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Table S1. The polar lipid classes content (% of the total polar lipids) and TAG (% of the total lipids) of various parts of the blades of Undaria pinnatifida samples
uninfected and infected with the endophyte Laminariocolax aecidioides collected in different months. Values given as mean + s.d. for triplicate. “+” — amount less than

“u_r

0.1%, “-” — not detected. Between columns result of Tukey test and Students t-test (p<0.05, n=3) are shown (“>”, “<” — statistically significant difference, - 1o
significant changes). “T” — difference between «June» and «February», S» — difference between uninfected and infected samples.
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Lipid samples p:’i?:}iiligz;?;fs U. pinnatifida samples|U. pinnatifida samples
Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. | Jun. Nov. S| Jun. S| Nov. S Jun. S

TAG |8.7#3.7 = 6.9+2.0 = 59+14 < 14.7439 = 12.5¢1.5 > 45+0.7 < |9.0£2.0 = 85+0.7 = 9.3+0.7 <19.7+0.9=17.242.2> 7.9+2.8 <| 12.5+£2.1 12.540.3 | 5.320.1 = 8.6x2.4 = |9.7+0.7 = 6.90.6 =
MGDG (34.1+3.0 =35.1+2.7 > 25.4+1.1 = 24.7+2.6 > 21.1+£1.3 < 34.442.2 > |31.6+2.1 <45.442.6 >27.7+0.8 =26.1+1.5=24.5+0.9 <30.7+2.0 >| 29.242.5 31.9+£3.0 (29.2+0.4 =|43.2+2.4 > |29.7+0.3=(36.7+0.6 >
GIcADG | 0.440.1 = 0.5+0.0 > 0.4+0.1 < 0.6+0.1 = 0.620.1 > 0.2+0.1 < | 0.8%0.1 = 0.6+0.0 = 0.5+0.1 = 0.5+0.0 = 0.5+0.1 = 0.6+0.3 =| 1.0£0.1 0.9+0.2 |0.5+0.0 = 0.2+0.0 = [1.0+0.2 = 0.3+0.0 =
SQDG [11.9£1.0> 3.9+1.7 < 6.240.3 < 10.30.9 = 11.4+0.8 = 12.9+1.3 > [11.5£1.1> 1.020.3 < 5.9+0.1 < 9.1+0.5 = 9.0£1.0 <13.1+0.7 >| 11.8+0.3  13.5+1.8 |12.520.9 =[ 8.0+4.3 = |13.3x0.3=(11.2+0.8 =
DGDG [9.940.0 <18.7#2.0 > 13.9+0.9 = 12.4+2.0 = 13.0+1.0 > 8.5+1.3 < [13.9+0.9> 7.2+2.5 <20.9+0.6 =22.5+2.0=23.0+3.2 >12.942.5 <| 14.8+1.2 11.3%2.5 [10.0+0.2 = 6.8+0.9 = [14.1+0.4=13.6+0.1 =
PG 16.0+1.2 <19.1+0.5 > 17.240.6 > 14.8+0.9 = 15.6+1.3 > 13.720.7 = |14.8+1.8 =12.3+2.9 <19.4+1.3>13.7+1.2 =14.6+1.1 >12.2+1.6 =| 16.0£0.7 13.2+1.9 [17.5+0.5=|13.1+3.4 = |13.320.4=({13.0+1.3 =
PG-OH | 0.3+0.0 < 0.520.0 = 0.5+0.1 = 0.5+0.1 > 0.3#0.0 > 0.1x0.0 <|0.3+0.0 > 0.2+0.1 < 0.7+0.1 > 0.4+0.1 = 0.4+0.1 > 0.1+0.1 <| 0.2+0.1 0.1£0.1 |0.3+0.0 = 0.1+0.0 = [ 0.3+0.1 = 0.2+0.1 =
PI 2.2+0.6 > 1.0+0.3 < 54403 > 4.7+0.2 > 29+0.3 = 2.5+0.7 < |2.0+£0.5 > 0.5+0.3 < 3.120.8 = 3.2+0.8 = 2.4+0.9 > 2.0+0.1 <| 2.0+0.2 1.7404 | 2.9+0.2 = 1.240.6 =|23+04 = 1.8+0.3 =
CPI 0.6£0.1 > 0.1+0.0 < 0.5#0.3 = 0.4+0.1 > 0.2+0.1 < 0.5#0.2 =|0.4+0.1 > 0.1+0.0 < 0.320.1 = 0.320.0 > 0.2+0.1 < 0.50.1 >| 0.4+0.1 0.5+0.2 | 0.8#0.1 > 0.3x0.1 =|0.7£0.0 > 0.5£0.2 =
PE 8.5+1.0 = 8.5+0.9 < 10.9+1.0 < 13.7£1.3 < 15.3£1.0 > 9.1+0.8 <|9.0+0.8 <15.4+0.3> 7.7+0.4 < 9.2+0.6 <11.0+1.3=10.0+0.2 >| 8.7+0.9 9.540.6 [9.0+09 =9.1+3.7 =[9.8+0.6 = 8.2+1.4 =
DGTS + = + = + = + = + = + = + = + > + = + = + = + > + 0.1+0.0 + = + = + > + =
DGTA + =+ = - = 0.120.0 = - = + =(01x01= - = - =01x01= - =+ =| 0.1x0.1 + + = - =10.6+0.0 = + =
PHEG |1.9+0.1 > 1.1+0.1 < 1.7#0.1 < 21403 = 23402 = 19404 =|1.7+0.1 = 1.7+04 > 1.2+0.1 < 1.5+0.1 = 1.420.2 = 1.3:0.6 =| 1.7+0.3 1.840.2 |2.1+0.3 = 1.8+0.3 =|1.940.1 = 1.4+02 =
PC 14.2+1.4 >11.3+1.4 < 18.0+0.6 = 16.0+1.8 = 17.2+0.8 > 16.0+0.6 = |13.9+1.2=15.5+1.4>12.7+1.4=13.5+0.4=12.9+2.2<16.6+1.5 >| 14.1£0.7 152409 [15.2+1.2=/16.0+0.8 = |12.8+0.0=({13.0+1.0 <

Table S2. The fatty acids composition of various parts of the blades of Undaria pinnatifida samples uninfected (L and U) and infected with the endophyte Laminariocolax

aecidioides (Li, Ui and Ue) collected in June. Values given as % of total fatty acids of the fraction (mean + s.d. for triplicate). “+” — amount less than 0.1%,
detected. Between columns result of Students t-test (p<0.05, n=3) are shown (“>”,

Za

<” — statistically significant difference,

“"_y

“ o

—not

—no significant changes).

FA Polar lipids fraction Neutral lipids fraction
L Li U Ui Ue L Li 9] Ui Ue
12:0 0.3+0.0 > + 0.1+0.0 = 0.1£0.1 = 0.240.1 0.9+0.9 = 1.8+0.5 1.3+0.3 = 1.5+0.5 = 1.6+0.0
14:0 3.6+0.4 = 3.940.2 3.1+0.1 = 3.8+0.9 = 4.5+0.5 7.2+0.3 < 10.2+0.8 8.8+1.6 = 9.4+1.1 > 7.3+0.3
14:10w-7 0.4+0.0 > + 0.2+0.0 = 0.2+0.2 = 0.2+0.0 2.2+0.4 > - 0.4+0.1 > - < +
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20:4w-3 1.5+0.4 > 0.7+0.1 0.9+0.4 = 1.7+0.8 = 2.6+1.0 0.9+0.1 = 1.1+0.8 1.1+0.3 = 0.9+0.4 = 2.0+2.4
20:5w-3 6.6+0.1 < 9.3+1.6 7.6+0.4 < 13.5#1.1 = 12.0£1.2 7.7+0.1 > 4.3+0.7 8.8+1.6 > 4.7+2.3 . 2.3+1.9
SFA 26.0£2.0 = 24.1£2.2 23.4+1.7 = 23.3+1.8 = 27.7#2.0 37.8+3.6 = 43.5£2.7 36.9+6.1 = 46.6+2.3 = 46.9+7.3
MUFA 9.7+1.3 = 10.7+1.0 9.0+0.3 = 7.8+1.1 = 9.8+0.9 16.2+0.4 = 18.5+1.0 12.7+3.0 < 19.0£3.0 = 22.6+2.2
PUFA 61.9+3.2 = 64.8+1.8 66.2+2.2 = 67.4+2.9 > 60.8+2.9 42.4+4.0 > 31.4+2.7 46.9+£7.5 > 28.1+8.8 = 19.2+11.5
w-3 35.1+1.1 = 36.8+6.0 39.9+0.1 = 39.9+2.7 = 34.9+1.0 19.2+41.2 > 12.1£3.1 22.2+2.9 > 14.2+6.5 = 9.249.2
w-6 19.7+4.6 = 20.7+3.7 19.3+2.4 = 20.8+0.7 = 19.2+1.9 14.6+1.7 > 10.7+0.2 15.9+3.3 > 6.6+1.6 = 2.7+0.6

Table S3. The molecular species composition of MGDG, DGDG, SQDG, PG, PE, PC, PI, PHEG and TAG of various parts of the blades of Undaria pinnatifida samples
uninfected and infected with the endophyte Laminariocolax aecidioides collected in different months. Values given as % of total molecular species (mean + s.d. for

“u a7

—not detected. Between columns result of Tukey test and Students t-test (p<0.05, n=3) are shown (“>”, “<” — statistically
—no significant changes). “T” — difference between «June» and «February», «5» — difference between uninfected and infected samples.

triplicate). “+” — amount less than 0.1%,

“"_y

significant difference,

The upper part
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The lower part of the blades of infected U. pinnatifida samples The upper 1ntact‘ part‘o.f the blades of infected U. mf ectefl. U th? blades of of un}ijr}:fec’f;d U. pinnatifida
MGDG pinnatifida samples pinnatifida uninfected U. samples
samples with | pinnatifida samples
endophyte

Nov. Dec. Jan. Feb. Apr. Jun. T | Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Jun. | Nov. S| Jun. S| Nov. S Jun. S
14:0/16:4 + = + = + = + = + = + = + =01+0.0> + =01+0.1> + = + =|0.1+#0.1 0.1+0.0 + = o+ =10.2+0.0 > + =
16:3/14:0 + = + = + = + < + = + = + = + > + = + = + =+ = + + + = =(0.1+0.0 = + =
14:0/16:2 + = + = + = + = + = + = + = + = + = + = + = + = + + + = - = + = - =
14:0/16:2 + = + = + = + = + = + = + = + > - < 4+ > 4+ > - < + + + = - = + = + =
14:0/16:1 [0.120.0 = 0.1+x0.0 = 0.1#0.0 < 0.1+x0.0 = 0.120.0 = 0.1x0.0 < [0.120.1 =0.120.0>0.120.0=0.120.0=0.120.0> + <|10.2+0.0 0.1+0.0{0.1£0.0 > + =10.4+0.0 > + =
14:0/16:0 + = + = + = + = + < 0.140.0 > + = + > + = 4+ = + < + > + 0.140.1{0.1£0.0 >|0.1+0.0 = + = + =
16:4/16:4 + = + = + = + = + < + =0.1#0.1=04+03> + = + + =0.140.1 =|0.1£0.2 0.1£0.0 + = - =10.60.0 > + =
16:3/16:4 + = 0.10.1 = + = 0.140.1 = + > + =(0.1£0.1 <0.6+0.2>0.1£0.0=0.1£0.1> + = + =10.2+0.1 0.1+0.1{0.1£0.1 = + =10.5+0.1 > + =
16:3/16:3 + = 0.10.1 = + < 0.1+0.0 > + = + < (0.1£0.1=03+0.1> + =0.1£01= + < + =10.2+0.1 0.1+0.1{0.1£0.0 > + =10.4+0.1 = + =
16:2/16:4 + = + = + > - < + + > + < 4+ = 4+ = + = + =+ = + + + = - = + - =
18:4/14:1+
16:2/163 0.1£0.0 = 0.1+0.0 > + = + = + = + < + <01801> + = + = + = + = + 0.1£0.1|0.1+0.0 =| + =10.1+0.0 > + =
16:1/16:4+
14:1/18:4 0.1+0.0 < 0.1+0.0 = 0.2+0.1 > 0.1+0.0 = 0.1z0.0 > + =(0.1£0.0<0.2£0.0>0.1£0.0= + = + = + =10.1+0.1 0.1+0.0{0.1£0.0 ={0.1+0.0 ={0.3+0.0 > + =
18:3/14:1 + = = + = + = + = = + = + > 4+ = 4+ = = = + + + = =10.1£0.0 = + =
16:2/16:2 + = = + = + = + = = + = = = + > + < + =/ + + + = =10.1+0.0 = + <
16:1/16:3 + > - < + = + = + > - = + = - = - < + > - = - < - + + = - = - = + =
14:0/18:4 |1.740.2 > 1.1x0.1 = 1.440.3 = 09+0.5 = 1.2+02 = 1.0+0.6 = |1.0+0.1 >0.4+0.1 =0.3+0.1 >0.1+0.1 <0.2+0.0 =0.320.2 =|0.7+0.1 0.5+0.1|1.8+0.0 =|0.7+0.0 =|0.6+0.1 < 0.3x02 =
16:0/16:4 + = + = + > + = + < + = + = 4+ = + = + = + = + = + 0.1+£0.0 + = o+ =10.1+0.0 = - =
16:2/16:1 + = + = + = + = + = + = + = + = + < + >+ < + ={1.3+1.8 + - = + = + = - =
16:1/16:2 + = + > + = + = + = + = + = + > + =03#04= + = + = + + + = + =10.1+0.0 > + =
14:0/18:3 |3.104 > 24402 = 24405 = 19+1.0 < 33203 > 1.2+0.2 = |3.1+0.3>2.0+0.2 =1.4+0.4>0.7+0.1 <1.4+0.2=1.240.5 =|2.8+0.3 1.4+0.3|4.4+0.0 >|1.1+0.1 =|3.1+0.0 = 1.4+00 =
16:3/16:0 + = + = + = + < + = 0.1+0.0 > + = + = + = + < + = + = + + + =/0.1+0.0 = - = + =
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18:3/20:4 [0.1x0.0 > + = 0.1#0.0 = 0.1+0.1 = 0.1x0.0 < 0.8#0.5 > [0.1+00= + = + <0.1#0.0=0.120.1=0.2+0.1 >{0.1£0.0 0.1+0.1|0.1+0.0 =|0.6+0.1 = + = 0.3+0.3 =
20:3/18:3 [0.2+0.1 > 0.1x0.0 = 0.120.0 = 0.1x0.0 = 0.120.0 < 0.320.0 > |0.2+0.1 >0.1+0.0 <0.1+0.0 <0.2+0.0 = 0.2+0.0 =0.2+0.1 =|0.120.0 0.2+0.1(0.2+0.1 ={0.320.0 ={0.1x0.0 = 0.3+0.1 =
20:4/18:2 |0.1+0.1 = 0.120.0 = 0.1+0.0 < 0.240.1 = 0.2+0.1 < 0.7#04 > |0.1x0.0 =0.1+0.0 = 0.1+0.0 < 0.2+0.0 = 0.2+0.1 = 0.4+0.2 =|0.1+0.0 0.2+0.1|0.1+0.0 ={0.5+0.1 =|0.1+0.0 = 04+0.1 =
20:5/18:1 + = 0.1+0.0 = 0.1z0.0 = 0.1z0.1 = 0.1£0.0 = 0.1+0.1 = [0.1+0.0=0.1£0.0=0.1£0.0 = 0.2+0.1 =0.1£0.1 = 0.1£0.0 ={0.1+0.0 0.2+0.1|0.1+0.0 = - =10.1+0.0 = + <
20:3/18:2 [0.120.0 > 0.1x0.0 = 0.1x0.0 < 0.2+0.0 = 0.2+0.0 = 0.2+0.0 > |0.1£0.0 >0.1+0.0 =0.1+0.0 <0.2+0.0 =0.1+0.0 =0.1+0.0 =|0.1+0.0 0.1+0.0(0.1+0.0 ={0.2+0.0 ={0.1+£0.0 < 0.1+0.0 =
20:4/18:1 |0.1x0.0 > + = + < + = + < 0101 = + = 4+ = + =01+00> + = + =/0120.1 0.120.0|0.1£0.0 ={0.1£0.0 =| + + =
20:5/18:0 + =+ + = 4+ = 4+ = 4+ =| 4 = 4+ = 4+ = _+ > 4+ < + =+ + | + = - = + = | + <
20:3/18:1 + = + = + = + = 0.1+0.0 = 0.10.0 > + = + = + <01200= + =0.1200 = + 0.1£0.0/0.1+0.0 = + < + = + =
20:0/18:4 {0.1+0.0 > 0.1+0.0 = 0.1x0.0 = 0.1x00 > + < 0.1£0.0 > |0.1£0.0 =0.1£0.0=0.1+0.0 =0.1+0.0 = 0.1+0.0 = 0.1£0.1 = + + 0.1£0.0 ={0.1£0.1 = + < 0.1+0.0 =
20:0/18:3 + = + < 4+ =+ = 4+ < 4+ >/ + = 4+ > + = 4+ =+ = 4+ =+ o+ | o+ = + <l + =1 +
20:5/20:5 + < 0.1#0.0 = 0.1£0.0 < 0402 = 0400 > + < 10.2+0.0 =0.2+0.1 = 0.2+0.1 < 0.5+0.0 < 0.9+0.2 > 0.2+0.1 <|0.3+0.0 0.5+0.1 + = + =10.2+0.1 = 0.2+0.2 =
20:5/20:4 [{0.1x0.0 > + < 0.1£0.0 = 0.1+£0.1 = 0.1£0.0 > + < 10.2+0.0 =0.1£0.1 = 0.1£0.0 < 0.2+0.0 < 0.3+0.1 > 0.2+0.0 =]0.2+0.0 0.2+0.1|0.1+0.0 ={0.1+0.0 =|0.3+£0.1 = 02402 =
20:4/20:5 [0.120.0 = 0.1x0.0 = 0.1x0.0 < 0.5x0.3 = 0.7+0.1 > 0.2#0.2 = |0.2+0.1 =0.2+0.1 =0.2+0.1 <1.0+0.1 <1.6+0.3 > 0.8+0.4 =|0.5+0.1 0.9£0.3(0.1+0.0 ={0.320.0 =|0.4+0.1 = 1.1+04 =
20:5/20:3 |0.1+0.0 = 0.120.0 = 0.1x0.0 < 0.240.1 = 0.2+0.0 > 0.1+0.0 < |0.1x0.0 =0.1+0.0 = 0.2+0.1 = 0.3+0.1 < 0.4+0.1 = 0.3+0.1 =|0.1+0.0 0.2+0.1|0.1+0.0 ={0.1+0.0 ={0.1+0.0 = 0.2+0.0 =
20:4/20:4 + = + = + = 0.140.1 < 0.240.0 = 0.5£0.3 = [0.1£0.0 > 0.1£0.0 = 0.1£0.0 < 0.2+0.1 =0.3+0.0 < 1.3+0.9 >|0.1+0.1 0.7+0.1|0.1+0.0 =|0.6+0.1 =|0.2+0.0 = 1.2+0.1 =
20:4/203 | - 9= - = - < 4+ > - < + = 4+ > - = - = - < 4+ = 4+ > -  + | - = - = - = |\ - =
SFA/SFA + > + = + = + = + < 0.1+£0.0 > + = + > + = + = + < + >10.1+0.0 0.1+0.1{0.1£0.0 >{0.1+0.1 =|0.1+0.0 = + =
SFA/MUFA |55+£1.0 > 3.840.5 = 3.440.6 < 6.1+0.8 > 5.0+0.3 = 5.0:2.3 = [4.7+0.1 =4.5+0.3 >3.7+0.5 <5.8+0.6 > 3.5+0.3 > 2.4+0.8 <|5.8+0.4 3.5+0.8|6.6+0.5 =|4.0+0.1 =|6.5+0.4 = 21+0.7 =
MUFA/SFA| - = - = - = - = - = - =/ - = - = - = - = - = - = - = |\ - = - = - = |\ - =
SFA/PUFA (154415 > 12,9415 = 13.4+1.7 = 13.1#4.3 = 15.7+0.5 > 8.9+1.9 = [10.9+0.4=9.4+1.5=7.8+1.1 =6.620.9 <8.4+0.5=7.7+1.5 ={10.741.49.0+0.7 [16.4+1.4 =|7.50.0 =[12.2+0.2 > 77+1.0 =
PUFA/SFA [02+0.0 = 0.1+0.1 = 0.120.0 < 0.3+#0.0 = 0.320.0 = 0.3x0.1 = [0.2+0.1 =0.320.0 = 0.2+0.0 = 0.2+0.0 = 0.30.1 = 0.3+0.1 ={0.5+0.1 0.6+0.3|0.2+0.0 =|0.2+0.0 =|0.4+0.1 = 0.3+0.0 =
MUFA/MUFA|0.3+0.1 = 0.2+0.0 > 0.1+0.0 < 0.3+#0.0 > 0.240.1 = 0.1+0.1 < |0.1+0.0 <0.2+0.0=0.2+0.1 =0.2+0.0 > 0.1+0.0 = 0.1+0.0 <|0.3+0.0 0.2+0.1{0.3+0.0 ={0.1+0.0 =|0.3+0.0 > 0.1+0.0 =




MUFA/PUFA|[1.4405 < 2.1+#03 = 24403 = 2304 > 17402 = 15+03 < [1.5+0.2<2.1+0.2>1.74+0.2=1.620.2=1.4+0.2>0.840.2 <|1.4+0.4 1.1+0.2(2.0+0.1 =|1.3+0.1 =|1.9+0.1 = 0.9+03 =
PUFA/MUFA|1.1+0.3 = 0.9+0.1 = 0.7+0.2 = 12405 = 09#0.1 < 1.5+04 = [1.2+0.3=1.2+0.1=1.120.2<1.520.2>1.0£0.0 >0.9+0.1 <|2.3+1.4 1.5+0.1|1.320.2 =|1.4+04 =|1.2+0.2 = 0.820.0 =
PUFA/PUFA [76.1£2.0 < 80.0+2.0 = 80.0£2.2 = 76.8+3.1 = 76.4+0.2 < 82.7+4.7 = [81.3+0.6=82.3+1.6<85.3+1.2=84.1+1.6=85.3+0.4=88.0+2.4 > [79.1+1.584.1+1.0[73.2+2.3 = 85.4+0.5 =[77.6:0.7 < 8.0£1.3 =
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Nov Dec Jan Feb. Apr. Jun. T | Nov. Dec. Jan. Feb. Apr. Jun. Nov. Jun. | Nov. S| Jun. S| Nov. S| Jun. S
14:0/16:2 + = + = + = + = + = 0.140.0 =(0.1+0.1= + = + =+ = + = 0.1+0.0 > + + + = - =10.1+0.0 =| 0.1+00 =
14:0/16:1 [0.1x0.0 = = = + = 0.1£0.0 = 0.1+0.0 =(0.1£0.1=0.1£00= + = + = 0.120.0 = 0.1£0.0 =|0.3+0.2 0.1+0.0{0.1+0.0 =|0.2+0.0 =|0.5+0.0 >| 0.1+0.1 =
14:0/16:0 [0.1x0.0 > - = - < + = + = 0.120.1 = + = - = + =+ = + > - <|0.10.0 0.1+0.0(0.1£0.0 =|0.1+0.0 =(0.1+0.1 = + =
16:1/16:4 |0.1£0.0 > + = + = 0.1£0.0 = + = 01402 =(0.1+0.1= + =0.120.0 = 0.120.0 = 0.1+0.0 = 0.1+0.0 ={0.1+0.1 0.2+0.0| + = - =10.120.1 = + =
16:2/16:2 + = + = + = 0.1+00 = + > - < + =01£0.0> + =+ > + > - < + - - = - =10.1+0.0 =| 0.1+00 =
16:3/16:1 + > - = - < + = + > - < + = - = + =+ > + < 0.240.0 > + - - = - = + =| 0.1+0.0 =
14:0/18:4 [2.0:04 = 2.7+1.0 < 4.8+0.8 = 3.8£1.7 = 3.0£0.2 > 0.50.1 < [1.920.1=2.0+0.5=2.0+0.3 > 1.3+0.5 = 1.0+0.2 = 0.6£04 =|1.7204 0.4+0.2|2.9+0.1 >|0.940.6 ={1.9+0.0 =| 0504 =
16:1/16:2 + > - < + = + = + > - < - 0= - = + =12416 = + < 0.140.0 = + - + = - =10.140.1 = - =
14:0/18:3 [4.0+1.3 > 1.4+0.7 < 2.6x0.2 = 2.8+0.6 = 3.7+0.6 = 3.6+0.7 = |6.4+0.9>3.7+0.9=3.8404 > 2.1+0.3 = 2.5¢0.6 = 4.1+2.0 =|5.5+0.5 3.320.4|4.9+0.6 =|3.0+0.8 =|5.4+1.0 =| 44420 =
16:1/16:1 + = + > + < + > + > - <[0.1+0.1= + = + =+ = - < 0.240.0 >(0.2+0.1 0.2+0.2| + = - =10.3+0.1 >| 0.1£00 =
14:0/18:2 [0.40.1 > 0.240.1 = 0.320.2 < 0.8#0.1 = 0.7#0.1 = 1.2#0.8 =[0.320.0<0.4+0.0=0.320.1 = 0.3+0.1 = 0.440.2 = 0.620.3 =|0.520.2 0.6+0.0|0.3+0.0 =|0.7+04 =|0.5+0.1 =| 0502 =
14:0/18:1 |0.3x0.1 = 0.1x0.0 = 0.1+0.1 = 0.2#0.1 = 0.1+0.0 < 0.6+0.2 > |0.2+0.1 =0.2+0.1=0.120.0 < 0.3+0.1 = 0.2+0.0 = 0.3+0.1 =|0.6+0.0 0.5+0.1|0.2+0.0 ={0.4+0.2 =[0.6£0.0 >| 0.2+0.3 =
16:0/16:1 + > - = - < + = + = + = - = - = - = - = - = - =10.1£0.0 - + = - = - = - =
16:0/16:0 - = - = - = - = - = - = - = - = - = - = - = - = - - - = - = - = + =
15:0/18:4 + = 0.1£0.0 = 0.1z0.0 = 0.1+0.1 = + < 0.240.0 =(0.1+0.0=0.1£0.0=0.1£0.0 > + = + = 0.1z0.1 =(0.1+0.0 0.1+0.0|0.1£0.0 = - =10.1£0.0 = - =
15:0/18:3 [0.1z0.0 > 0.1z0.0 = 0.1x0.0 = 0.1+0.0 < 0.1+0.0 = 0.1+0.0 = [0.2+0.0=0.120.0=0.1+0.1 > + < 0.10.0 < 0.4+0.1 >|0.2+0.0 0.3+0.1{0.1+0.1 ={0.2+0.0 =|0.2+0.1 =| 04+0.0 =
15:0/18:2 - - < + = + > + > - <(0.10.0> - < + =+ = + > - < +  0.1x0.0 - =(0.2£0.0 = + = + =
18:3/16:2 + = + < 0.1+0.0 = 0.2#0.1 > 0.1x0.0 = + < +  <0.140.0<0.120.0 = 0.1£0.0 < 0.3x0.1 = 0.2+0.1 = + 02+0.0 + = - = + =| 0100 =
16:2/18:3 - - = - < 0.3+0.0 > - = - < - = - = - <0300 = 04+0.0 > - < - - - = - = - = - =
16:1/18:4 [0.1z0.0 < 0.240.0 = 0.2+0.1 = 0.2#0.1 = 0.2#0.0 = 0.2#0.1 = [0.240.0<0.320.1=0.4+0.1 = 0.4+0.2 = 0.5+0.2 > +  <(0.120.0 0.120.0{0.1+0.0 ={0.1£0.0 =|0.2+0.1 =| 0.10.1 =
20:5/14:0 ]0.1£0.0 = + = 0.1+0.0 = 0.1x0.0 = + = 0.10.0 = + = + =01x00= + = + = +  ={0.120.0 0.1x0.0| + =(0.2+0.0 =(0.1£0.0 =| 0.1£0.0 =
16:1/18:3 [0.120.1 = 0.240.1 < 0.3x0.0 < 0.7+0.3 > 0.2+0.0 > 0.1x0.1 < [0.320.2=0.5+0.1 =0.620.0 = 0.8+0.1 = 0.7+0.2 > 0.320.1 <[0.2+0.0 0.1+0.0|0.1+0.0 ={0.3x0.1 ={0.2+0.1 =| 0.2+0.1 =
18:1/16:3 + = + = + = + = + < 0.1+0.0 = + = + = + =+ = + = 0.1+0.0 >|0.1+0.0 0.1+0.0 - = - =10.1+0.0 =| 0.1+00 =
20:4/14:0 - = - = - < + > - < 0.240.0 > - = - = - < o+ = + < 0.310.0 > - - - =10.140.0 = - = - =
16:0/18:4 [3.0+0.2 < 6.3+x1.3 < 11.2#1.5 = 95+44 = 6.1+0.3 > 1.3+0.6 < |2.320.1<3.7+1.2=3.620.8 > 1.9+09 = 1.9+0.4 > 0.6+0.3 <|2.4+0.1 1.4+0.4|4.6+0.2 >|0.840.5 ={2.0+0.2 =| 0.6+0.1 =
16:1/18:2 + > + = + = 0.1+0.0 = 1.6+2.7 = + = + = + = + <0.1£0.0 = 01401 > - <|3.1+4.4 - + = + = + =| 0.1+0.0 =
14:0/20:3 + > - = - < + > - = - < - = - < + =+ > - = - < - - - = - = + =| 0.10.0 =
16:0/18:3 [4.9+1.1 > 2.740.6 < 3.9+0.2 < 6.0£0.5 = 5.0£09 = 4.5+04 < |5.320.5=4.7+0.5<6.020.6 > 4.1+0.6 = 4.3x04 = 4.6£1.0 =|6.720.6 6.4+1.3|5.0+0.4 =|3.740.6 =|6.6+0.0 >| 5.00.7 =
16:1/18:1 - = - < + = + > - = - < + > - < + = + = + > - <(0.1+0.1 - + = - = + = - =
16:0/18:2 [0.3x0.0 > 0.1x0.0 = 0.3x0.1 < 0.6+0.1 = 0.7+0.2 = 0.8+0.3 = [0.320.2=0.4+0.1=0.420.0 < 0.6+0.1 = 0.620.1 = 0.7+0.3 =(0.6+0.1 1.1+0.4|0.2+0.1 ={1.2+0.1 ={0.5+0.0 =| 0.8+02 =
16:0/18:1 |0.1£0.1 = 0.2+0.1 = 0.1x0.0 < 0.3#0.1 = 0.2+0.0 = 0.4+0.3 ={0.320.0>0.2+0.0 <0.3+0.1 = 0.520.2 > 0.320.0 = 0.5#0.2 =|1.2+0.3 1.320.5(0.1+0.0 ={0.4+0.3 =|0.5+0.0 >| 0.2+0.3 =
18:5/18:4 + = 0.1£0.1 = 0.2+0.1 = 0.1£0.1 = 0.1x0.0 > - + <04+0.2>0.140.1 = 0.1+0.1 = 0.1+0.1 = 0.2+0.1 =|0.1+0.1 0.1+0.0| + ={0.1+0.0 =|0.1£0.0 = + =




20:5/16:4 |0.1+0.0 = + = + = + > - < + = - <0.1+0.0=0.1+0.0 = 0.1+0.1 = + > - = - 0.1+0.0 - = - = + = -
18:4/18:4 [2.3x0.5 = 24403 = 25403 = 2.0£0.3 > 1.320.1 = 1.1+0.5 < |2.840.5<4.0+0.5=4.320.5 = 3.5+0.9 = 2.620.1 > 1.9+0.3 <|3.5+0.3 2.7+0.2|1.7+0.1 =|0.9+0.5 =|3.2+0.3 =| 2.6£1.0
20:5/16:3 + = + = + > - < + = + > + = + > + = + < + > - < + + - = - = - = +
18:3/18:4 [1.1x04 = 1.1x0.3 = 1.120.7 = 1.0£05 = 0.8404 = 1.0£0.6 = |1.720.7=3.2+1.2=4.3+0.7 = 4.4+1.3 = 3.320.4 > 1.9+1.0 <|3.5+1.5 2.0+2.3|0.8+0.3 =|0.3+0.2 =|5.3+0.6 >| 4.0£1.5
20:5/16:2 0.3+0.2 > - < 04+0.1 = 04+0.2 = 0.1+0.1 = 05+04 =|1.2+05> - = - <0.2+02 = 0.1+0.0 < 2.6+0.4 >(2.1+0.0 2.9+0.5|0.4£0.1 =|0.9+04 = - =] 0.5+0.0
16:3/20:4 |0.1£0.0 = 0.1+0.1 = 0.1£0.0 = 0.1+0.1 = 0.120.1 = 0.2+0.2 ={0.120.0=0.120.1=0.120.0 = 0.1£0.1 = 0.1x0.0 = 0.1x0.0 =|0.320.0 0.1+0.0{0.2+0.0 = - =10.2+0.1 =| 0.1x0.1
18:3/18:3 [0.6+0.2 < 1.3+05 = 18404 = 1.8+412 = 12402 = 1.1+0.6 = [2.0+0.4<4.0+1.0<5.9+04 = 5.1+1.1 = 52+1.0 = 4.9+1.1 =|2.6+0.1 3.1+0.7|0.7+0.2 ={1.0+0.4 =|2.8+0.6 =| 3.8+1.7
18:3/18:3 + < 0.1£0.0 = 0.2+0.0 > - < 0.1£0.0 = 0.1z0.1 > |0.1+0.0=0.2£0.1=0.2£0.1 > - < 0.120.0 = 0.3+0.3 >|0.1+0.0 0.1+0.0{0.1£0.0 =|0.1£0.0 =|0.1+0.1 =| 0.1x0.1
20:5/16:1  [{0.3x0.2 = 0.1z0.1 = 0.120.0 = 0.2+0.1 = 0.1x0.0 < 0.4+0.1 > [0.1x0.0=0.1£0.1=0.2+0.0 = 0.3+0.1 > + = 0.320.2 =/0.1+0.1 0.3+0.1{0.1+0.0 ={0.2+0.0 =|0.3+0.1 =| 0.3x0.0
18:5/18:1 + + = + = 0.1£0.1 = 0.1z0.0 = 0.1+0.0 = + = + <0.120.0 <0.2+0.0 > + < 0.320.0 =(0.1+0.2 0.1+0.1 + = - = + = +
18:3/18:2 |0.1#0.1 = 0.2#0.1 = 0.2+#0.1 = 0.6£0.3 = 0.5+0.1 = 0.7+04 ={0.320.1=0.4+0.2<0.740.1 < 1.6£0.6 = 1.1+04 = 0.8+0.8 =|0.4+0.1 0.840.4(0.1+0.0 ={0.5+0.0 =|0.4+0.1 =| 0.8+0.3
20:4/16:1 + = 0.1£0.0 = + = + = + < 02+0.1 >(0.120.1=0.1£0.0=0.1£0.0 = + = 0.120.0 = 0.1x0.1 = + 0.120.0 + ={0.240.0 = + =] 0.120.0
20:5/16:0 [0.3+0.2 = 0.1z0.1 = 0.2+0.1 = 0.2+0.1 = 0.2+0.1 < 0.720.3 > [0.3+0.1 =0.4+0.1=0.320.1 = 0.320.1 = 0.5+0.1 = 0.4+0.1 ={0.7+0.1 0.4+0.3|0.3+0.0 =|0.620.2 ={0.5+0.0 =| 0.5+0.1
18:2/18:2 [0.120.0 = 0.1#0.0 = 0.120.0 < 0.3+0.0 = 02+02 = 0.2+0.1 =0.140.0<0.120.0<0.240.0 < 0.6+0.1 = 0.4+0.2 = 0.2+0.1 <|0.1+0.1 0.3+0.3|0.1+0.0 ={0.2+0.2 ={0.2+0.0 >| 0.2+0.0
18:1/18:3 [0.1x0.0 = 0.120.0 = 0.120.0 = 0.1+0.0 = 0.1+0.1 = + =10.120.1 < 0.240.0 =0.2+0.1 = 0.2+0.1 = 0.2+0.1 > 0.1+0.0 =|0.2+0.1 0.2+0.1|{0.1+0.0 ={0.320.0 ={0.1+0.0 =| 0.1+0.0
16:0/20:4 + = + + = 0.1£0.0 = + = 0.1z0.1 =(0.1x00= + = + =+ = + < 0.240.1 >|0.240.0 0.4+0.3 + = - =10.120.0 =| 0.2+0.0
20:4/16:0 [0.1+0.0 > - = - < + = + < 0302 > + = - = + =+ = + < 0.120.1 > + 0.240.0 + ={04+0.2 = + =] 0.2+0.0
18:0/18:4 [0.520.1 = 0.7+0.2 = 0.520.0 = 0.6+0.3 = 0.5+0.1 > 0.2+0.0 < [0.4%0.1=0.6+0.2=0.5+0.1 > 0.2+0.1 = 0.2+0.1 = 0.2+0.1 =|0.4+0.1 0.320.1|0.5+0.2 ={0.120.0 ={0.3+0.1 =| 0.1x0.0
18:2/18:1 + = - < + = 0.1£0.1 = + = 0.120.0 = - = - = + <0.1+£0.0 > 01400 = + <10.1£0.0 0.1+0.1 + ={0.120.0 =|0.1£0.0 = +
18:0/18:3 |0.3x0.1 > 0.1+0.0 = 0.1£0.0 < 0.2+#0.1 = 0.2+0.1 < 0.5+0.2 >|0.4+0.2=0.320.1=0.320.1 = 0.2+0.0 > 0.2+0.0 < 0.8+0.4 >|0.5+0.1 0.320.0(0.4+0.0 ={0.5+0.1 =|0.4+0.2 =| 0.5x0.0
18:1/18:1 + > - = - < + = + = + < + = - = + =+ = + = 0.10.1 = + 0.1+0.0 + = - = + =] 0.1+0.0
18:0/18:2 + > - < + = + = + = 0.10.0 > + = - = - = - < + > - = + + + =10.2+0.0 = + = +
18:0/18:1 [0.1+0.0 > - < + = + > + = 0.1+0.1 = + > - = + =+ = + = + =10.1+0.1 0.1+0.0 + =10.120.0 = + =| 0.1+0.0
18:2/19:2 - = - = - = - = - = - = + > - < + <0.140.0 = 0.120.0 = 0.1£0.0 =|0.2+0.1 0.5+0.4 - = - =10.1£0.1 =| 0.1+0.2
183/191 | - = - = = - = - = - =/ - = - = - < + = 4+ > - < - - 0 - = - = - =| +
20:5/18:5 + = 0.1+0.0 = + > - < + > - = + + > - < + = + = + = + - + = - = + = +
20:5/18:4 67.2+3.5 = 73.2+4.6 > 61.1+1.9 = 55.544.7 = 61.3+2.3 > 50.7+3.6 = [62.0+1.1=63.6+4.2=58.2+2.3=60.4+0.6 = 62.7+5.0 > 49.0+2.7 < [57.0+2.856.7+3.7/65.2+1.9 = 45.8+6.0 = [56.2+2.2 = | 50.5+5.4
20:5/18:3 |1.620.5 > 1.0+0.2 > 0.7+0.1 < 1.5+0.2 = 1.1x0.3 < 25404 > [1.4+0.5=1.0+0.3=1.140.2 < 1.4+0.1 = 1.6+02 < 7.4+4.6 >[1.620.3 4.7+1.0|1.2+0.2 =|1.4+0.1 <|2.0£0.1 =| 4.9+0.3
20:4/18:4 |8.620.8 > 4.6+02 < 6.3+x1.0 < 8.840.8 = 9.6x0.9 < 23.4+1.4 > [8.2+0.8>4.1+0.5=4.620.8 < 6.7+1.2 = 7.2+1.1 = 12.1+4.5>[4.620.3 7.2+3.3|8.8+0.4 =[30.0+6.4 =|6.3+0.0 =| 14.5+7.5
20:4/18:3 |0.5+0.1 > 0.2+#0.1 = 0.1#0.1 < 05x0.1 > 0.3x0.1 < 1.7+0.9 > |0.6+0.1 >0.2+0.0>0.1+0.1 < 0.5¢0.1 > 0.320.0 < 3.5¢1.3 >|0.4+0.1 1.120.6|0.520.0 =(3.0£0.3 ={0.520.3 =| 2.5+1.1
20:5/18:2 [0.2+0.1 = + = 0.1z0.1 = 0.1z0.0 = 0.1+0.0 = 0.8+05 > < + =0.140.1 = 0.1£0.0 = 0.3+0.3 = 0.1+0.0 =|0.1£0.0 0.4+0.0 + =(0.5+0.4 =|0.1£0.1 =| 0.2+0.1
18:3/20:4 [0.1x0.1 = + = 0.10.1 = + = 0.1£0.1 = 05+0.6 = - <+ =+ =+ = + < + =10.1£0.0 0.1+0.1 + =10.6+0.3 = + = +
20:4/18:2 [0.1+0.0 > + = + = + = + = 0.1£0.1 = + = + = + =+ = + < 0.2#0.1 >|0.1+0.0 0.1+0.1 + = - = + = +
20:5/18:1 + > - < + = + = + < 02+0.1 > + = - < + =+ = + = 02403 = +  0.120.1 + =10.4+0.2 =|0.1£0.0 =| 0.1x0.0
SFA/SFA |0.1+0.0 > + + = + = + = 0.1+0.1 = + = + = + =+ = + = + = + + 0.1+0.0 = 0.1+0.0 =|0.1£0.1 = 0.1£0.0
SFA/MUFA (04402 = 0.320.2 = 0.3x0.1 < 0.5+0.2 = 0.4+0.0 < 1.1x0.5 = [0.7+0.2=0.5+0.1=0.5£0.1 = 0.9+0.3 = 0.6x0.1 = 0.7+0.4 ={2.1+0.3 1.8+0.6|0.5£0.0 = 0.8+0.3 ={1.6+0.0 > 0.6x0.4
MUFA/SFA | - = - = - = - = - = - =/ - = - = - = - = - = - = - = | - = - =/ - = -
SFA/PUFA [15.743.1 = 14.3+3.9 < 23.9+2.2 = 24.5+6.6 = 20.1+1.6 > 12.840.7 < [17.8+1.0=15.9+1.8=17.2+1.7>10.842.5 = 11.3+1.5 = 12.943.3 =[18.7+1.014.5+0.918.9+1.2 = 11.2+0.5 = [18.2+1.1 = 12.9+1.9
PUFA/SFA (04402 > 0.1x0.1 < 0.320.1 = 0.3+0.1 = 0.3+0.1 < 1.1x0.2 >|0.4+0.1 =0.5+0.1=0.4+0.0 = 0.4+0.1 < 0.520.1 = 0.6+0.2 >|0.8+0.1 0.4+0.3[0.320.0 = 1.2+0.1 =[0.620.1 = 0.6+0.2
MUFA/MUFA| + = + = + < + > + = + <[101£01= + = + =+ = + < 0.120.1 =(0.2+0.1 0.2+0.1 + = + =10.320.0 > 0.1x0.1
MUFA/PUFA|[0.440.2 = 0.5+0.1 = 0.620.1 < 1.1#0.2 = 2.1+2.6 = 0.4+0.1 < |0.740.2<1.240.2<1.440.0 = 2.3+1.1 = 1.5¢0.5 > 0.5+#0.1 <|2.743.8 0.5+0.3|0.4+0.0 = 0.7+0.2 ={0.9+0.3 = 0.5+0.1
PUFA/ MUFA| + = + + = 0.1£0.1 = + = 02402 = + < + =0140.0 < 0.240.1 = 0.1£0.0 = 0.2+0.2 =|0.1+0.1 0.2+0.0 + = 0.5+0.2 =[0.1£0.0 = 0.1+0.0
PUFA/PUFA 83.1£3.6 = 84.8+4.1 > 74.9+2.1 = 73.5+6.2 = 77.1+2.4 < 84.5+1.3 > [80.4+1.5=81.9+2.0=80.4+1.8 <85.5+3.2 = 86.0+2.0 = 85.0+3.4 = [75.4+2.782.3+1.479.8+1.1 = 85.6+0.3 = [78.3+x1.3 = 85.3+1.7
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endophyte
Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Jun. | Nov. S | Jun. S | Nov. S | Jun. S
14:0/14:0 [0.740.2 > 0.24#0.1 = 0.1+0.0 < 0.3+0.1 = 0.2+0.2 < 0.5+0.1 =|1.1+0.6 = 0.8+0.3 > 0.2+0.1 < 0.4+0.2 > 0.1+0.0 < 0.9+0.5 =|1.5+0.8 1.2+0.2|0.7+0.2 = 0.9+02 = [3.7+03 > 0.7+02 =
14:0/16:2  [0.1+0.0 = 0.3+0.4 = 0.240.1 = 0.1+0.1 = 0.120.1 = 0.1+0.1 =|0.1+0.1 = 0.5+0.4 = 0.3+0.1 = 0.2+0.0 = 0.2#0.1 = 0.2+0.0 =[0.1+0.0 0.2+0.2|0.2+0.1 = 0.2#0.0 = [0.3:0.0 > + =
14:0/16:1 |0.5+0.2 = 0.2+0.0 = 0.4+0.2 = 0.520.1 > 0.2+0.1 < 0.5+0.1 =|0.9+0.3 = 0.9+0.2 > 0.520.2 = 0.5+0.1 > 0.4+0.1 = 0.5+0.3 =|1.2+0.8 0.5+0.2|0.6x0.1 = 0.8+0.3 = [1.2+04 = 04+02 =
14:0/16:0 |7.9+14 > 0.7+0.4 = 1.0+0.0 = 0.7+0.4 = 1.0£0.2 < 7.5+2.1 >|5.8+1.1 > 1.2+0.2 = 1.2+0.3 > 0.7+0.3 = 0.820.2 < 4.6£2.5 > |6.5+0.4 6.0+1.7|7.7+1.2 = 7.4+0.6 = [55+03 = 54403 =
15:1/16:1 - = - = - < 4+ > - = - < + = - = 4 = 4+ =+ > - <|01x00 + + = - = + = - =
16:1/15:0 + = - <01x00= + =01#01> - <| + > - <01£0.0 = 01+0.0 = 0.1+0.0 = 02+0.0 =| + - + = - = + = 01200 =
15:0/16:0 + > - = - = - = - < 02+0.0 >(0.1£0.0 > - = + =+ =+ <030.0 >{0.1+0.0 0.1£0.0| + = 0.1£0.0 = |01+x0.0 = 0.1+0.1 =

14:0/18:4 |0.4+0.1
14:0/18:3 |6.3+1.2
14:0/18:2  |3.7+1.2
14:0/18:1 |2.0+0.3
16:1/16:0 |0.9+0.0

0.4+0.2 = 0.3+0.2 = 0.1+0.0 = 0.1+0.0
52+0.8 = 4.9+0.5 > 3.3x0.1 = 3.3:0.4
14+0.7 = 2.1+0.8 < 4.4+1.6 = 4.3+0.8
1.1£0.7 = 1.8#0.8 = 2.1+0.5 = 1.4+0.6
0.8+0.0 = 0.8+0.0 = 0.5+0.3 = 1.1+0.7

0.1+0.0 ={0.3+0.2 < 0.8¢0.3 > 0.4+0.1 = 0.3x0.1 = 0.2+0.1 = 0.1z0.1 =|0.2#0.1 0.2+0.0{0.2+0.0 = 0.1x0.0 = |1.1+0.1 > 0.1x00 =
4.0+14 =|5.241.5 = 6.0+1.0 > 4.7+0.3 > 2.3+05 = 2.4+04 = 3.4+0.9 =|3.5#0.3 2.2+0.3|6.4+1.0 = 4.2+05 = (3.9+0.7 = 3.9+03 =
6.0£1.2 =[4.440.2 > 2.3+0.8 = 2.740.9 = 2.8+0.8 = 3.3+0.4 < 6.7x1.3 >|3.0£0.5 3.9£1.7|2.8+0.1 = 4.7+2.0 = |29+#0.1 < 7.0£3.0 =
23405 =[2.1£0.5 = 1.820.9 = 1.6£0.7 < 2.620.2 > 1.920.5 = 24414 =|2.0£0.8 2.1+0.8|2.5#0.0 = 1.8#0.5 = (2.7x0.1 = 22+0.6 =
0.6+0.0 ={1.0+0.0 = 0.6+0.0 = 1.2+0.0 > 0.4+0.1 < 1.3+0.5 = 1.320.0 >[0.9+0.0 1.4+0.5| - = - = - = - =
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16:0/16:0 |2.0£0.4 > 0.9+0.1 > 0.5+0.0 = 0.4+0.1 < 0.7#0.2 < 4.0£0.5 >|1.9+1.7 = 0.6+0.1 < 0.9+0.2 = 0.840.4 = 14404 < 7.4+0.8 34+0.3 6.0£0.8(1.7+0.2 = 3.8+0.8 = |3.620.5 = 6.3%+1.5 =
15:0/18:3 |0.2+0.1 > - < 0.120.1 = 0.1z0.1 = 0.2+0.1 = 0.2+0.1 =[0.2+0.1 > - < 0.2+0.1 = 0.120.1 = 0.2£0.1 = 0.2#0.0 ={0.1£0.0 0.5£0.3|0.2+0.1 = 0.2+0.0 = |0.2+0.0 = 0.3%0.3 =
150182 ( - = - = - = - = - = - =/ 4+ = - = - = - = - = - =/ - - | - = - =| - = - =
15:0/18:1 [0.320.2 = 0.4+0.2 = 0.4+0.2 = 0.5+0.3 = 0.3x0.1 = 0.5+0.3 =|0.620.1 = 0.620.2 = 0.620.1 = 0.6+0.1 = 0.4+0.2 = 0.5+0.3 =|0.5+0.1 0.620.2|0.4+0.2 = 0.7+0.0 = |0.7+0.1 = 0.520.3 =
16:0/17:0 + = - = - < 0.1£0.0 > - < 0.1+£0.1 = + > - < + > - < + = 0.1+0.1 = - + - = + = 10.1£0.1 = 0.1+0.0 =
20:5/14:0 + < 0.120.0 = 0.1+0.0 = 0.1+0.1 = 0.1x0.0 > - <10.120.0 = 0.1+0.0 = 0.1+0.1 = 0.1+0.0 = 0.1x0.0 > - < +  0.1x0.0 + = - = + = + =
14:0/20:5 - < 0.1£0.0 > - < + = + = - < - < o+ = + = 0.1£0.0 > - = - <10.1+0.0 0.1£0.0 - = - = + = 0.1x0.0 =
16:1/18:3 |0.10.1 = 0.5+0.4 = 0.3x0.1 = 0.2+0.1 = 0.2+0.1 = 0.2+0.1 =|0.1+0.1 < 0.6+0.2 > 0.2+0.1 > + < 02401 > + =10.120.0 0.2+0.2(0.2+0.1 = 0.1+0.0 = |0.1x0.1 = 0.1x0.0 =
14:0/20:4 - < 0.7+0.3 > 0.1£0.0 = 0.240.2 = + = + =10.120.0 = 0.1£0.1 = 0.1+0.1 = 0.1+x00 = + = 02+0.2 =|0.3x0.3 0.30.0|0.1£0.0 = - = 10.1£0.0 = 02+0.1 =
18:3/16:0+

16:0/18:3 59413 < 83+05 = 7.8+1.2 = 6.6+1.0 > 3.8+1.1 = 6.1+1.8 =[6.4+1.8 <10.6+1.4 =10.7+0.3 > 7.4+1.0 = 8.8+0.8 =10.2+1.2 > [6.3+0.9 11.5+1.85.7+0.3 = 8.0+1.8 = |6.60.6 = 12.5+42 =

18:2/16:0 [3.4+0.3 < 9.5+0.5 = 11.3+2.6 = 13.742.4 > 9.3+0.5 > 7.2+1.6 <|3.7+0.7 < 6.2+0.5 = 6.840.8 < 11.7+0.5> 9.7+0.3 = 11.5+3.4 = |4.1+0.4 12.6+3.5/3.005 = 6.6+1.2 = |3.9+0.6 = 11.8+1.8 =
18:1/16:0  60.2+3.7 = 58.9+2.6 = 59.9+1.5 = 58.5+2.9 < 67.5+1.4 > 55.845.1 = |60.3+2.1>56.0+1.9 = 57.9+1.7 = 61.2+3.2 = 61.1+1.0 > 45.442.3 < |58.1+1.345.242.363.0+3.6 = 56.9+7.9 = [56.9+0.9 = 41.4+45 =
18:1/16:0 |2.5+0.3 = 3.442.6 = 49+0.3 = 5.0+0.8 > 3.6+04 > 1.6x0.4 <|1.2+0.5 < 2.3#0.8 = 2.9+0.7 = 3.2+0.3 > 2.7+0.2 > 0.7+0.6 <|[1.8+0.5 1.0+0.5{1.5+0.1 < 1.320.0 = [1.5+0.3 = 1.4+0.7 =
18:0/16:0 |0.1+0.0 = 0.2+0.0 > 0.1+0.0 = 0.1+0.0 = 0.1+0.0 < 0.4+0.1 >|0.120.0 = 0.1£0.0 = 0.120.0 = 0.120.0 = 0.1+0.0 < 0.4+0.2 >[0.3+0.2 0.3+0.1{0.120.0 = 0.4+0.2 = [0.2+0.1 = 0503 =
18:4/18:4 [0.4+0.3 = 1.4+1.6 = 0.320.1 = 0.4+0.2 > 0.1+0.1 = 0.2+0.1 <|0.6+0.2 = 0.4+0.2 = 0.320.0 = 0.4+0.5 = 0.6+0.7 = 0.5+0.3 =|2.5+1.3 0.4+0.2|0.2+0.1 = 0.1+0.0 = |0.620.0 = 0.420.1 =
18:3/18:4 |0.4+0.2 = 0.9+0.5 = 0.5+0.1 > 0.1+0.1 = 0.2+0.0 = 0.2+0.1 ={0.9+0.1 = 1.4+0.5 = 1.1+0.2 > 0.50.2
18:3/18:3 |0.840.4 = 1.5+0.7 = 1.0+04 = 0.6x0.3 = 0.4+0.2 = 0.4+0.2 =|1.1204 = 1.7+0.6 = 1.820.2 > 0.8+0.1
18:3/18:2 [0.3x0.1 = 0.7+0.5 = 0.2+0.1 < 0.3x0.0 = 0.2+0.1 = 0.2+0.2 ={0.2+0.1 < 0.5+0.2 = 0.4+0.1 = 0.4+0.1
20:5/16:0 |0.1+0.1 < 0.5+0.3 > 0.1+0.0 = 0.1+0.0 = 0.2+0.1 = 0.1+0.1 =|0.2+0.1 = 0.3x0.1 = 0.2+0.1 = 0.4+0.3
18:2/18:2 |0.2+0.0 > + > -
< >

0.520.1 = 0.5#0.2 =|1.320.6 0.810.4|0.4+0.0 = 04+0.5 = [1.0203 = 0.6x03 =
0.840.1 = 0.6£0.4 =|0.9+0.6 0.620.3|0.80.2 = 04+0.0 = [0.810.1 = 0.8x0.1 =
0.3+0.1 = 0.3+0.2 =0.2+0.1 0.2+0.1|0.2+0.0 = 0.2+0.0 = [0.2+0.0 = 0.7x03 =
0.1+0.1 = 0.2#0.2 =0.2+0.0 0.2+0.2|0.1x0.0 = 04+04 = [0.2+0.1 = 02400 =

< 0.1£0.0 = 0.1x0.1 = 0.2+0.1 >|0.1+0.0 = 0.120.0 = 0.1x0.0 = 0.1+0.1 = 0.1+0.1 = 0.2+0.2 =[0.1x0.1 0.2+0.1 + < 02+#0.0 = |0.1+x0.0 = 02+0.0 =
20:4/16:0 - 0.2+0.0 > 0.1+0.0 < 0.2#0.1 > 0.1+0.0 =  + < - <01x00= + =+ =0.1+0.1 < 03+0.0 > + 0.1%0.1 + = 02100 = - = 0.1+0.0 =
16:0/20:4 |0.2+0.0 = 0.3+0.0 = 0.1+0.1 > - < 0.140.0 = 0.1+0.1 >|0.1+0.0 = 0.1+0.0 < 0.240.1 = 0.2+0.0 = 0.2+0.0 = 0.4+0.0 = + 02402 + = 0.1£0.0 = - = 0102 =




18:2/18:1 + = - = 0.1+0.1 = 0.1+0.0 < 0.6+0.4 = 0.1£0.1 = + > - < 0.1+0.1 = + <0302 > + = +  0.3+0.1 - = 0.30.0 0.1+0.1 = 0.1x0.0 =
20:3/16:0 |0.3+0.0 = 0.3x0.3 = 0.1+0.0 = 0.120.2 = 0440.3 = 0.3x0.1 ={0.420.3 = 0.4+0.2 = 0.5+0.1 = 0.5+0.2 = 0.8+0.8 = 0.4+0.1 =[0.320.2 0.4+0.1{0.2+0.2 = 0.3x0.0 0.2+0.1 = 0.3%0.1 =
18:0/18:3 + < 0.6+0.4 = 0.10.0 = 0.10.0 = + = + = - <0.1%0.0 > - = 02402 = 0.1x02 = - =10.120.1 - + = - 0.1£0.0 = - =
16:0/20:0 [0.1x0.1 = 0.1x0.0 = + = 0.1z0.0 = 0.1+0.0 < 0.2#0.1 >|02+00> + = + = + =+ <0601 >{04+0.1 04+0.2|0.1£0.0 = 0.5+0.1 0.2+0.1 = 0503 =
20:5/18:4 |0.3+0.2 < 1.841.2 = 0.9+0.1 = 0.7404 = 0.5+0.2 = 0.320.2 =|1.1+0.2 < 2.1+0.5 = 1.8+0.3 > 1.2+0.3 > 0.720.3 > 0.3+0.1 <|1.3+0.3 0.6+0.3[0.60.1 = 0.2+0.0 0.7+0.1 = 0.9+0.1 =
20:5/18:3 |0.2+0.2 = 0.3x0.2 = 0.1+0.1 = 0.240.1 = 0.10.0 < 0.2+0.1 ={0.120.1 = 0.4+0.2 = 0.4+0.0 = 0.2+0.2 = 0.1+0.1 = 0.1+0.1 =[0.120.1 0.2+0.0{0.1+0.0 = 0.1x0.0 0.1£0.0 = 0.1x0.0 =
20:4/18:4 |0.240.2 = 0.320.2 = 0.120.1 = 0.1+0.0 = 0.1+0.1 = 0.2#0.1 =|0.1+0.1 = 0.440.2 = 0.4+0.1 > 0.1x0.1 = 0.2+0.0 = 0.1+0.1 =|0.1+0.1 0.2+0.0{0.1+0.0 = 0.1x0.0 0.1+0.0 = 0.1x0.0 =
20:4/18:3 - = - = - < 0.1£0.0 > - = - < - = - = - < + > - < 0.1£0.0 ={0.3x0.0 + - = - 0.1+0.0 = - =
20:3/18:4 - < 02402 = + > - < + > - = + = + = + = + = 0.120.0 = 0.1£0.0 = + 0.120.0 + = - + = 0.1+0.0 =
20:4/18:3 |0.1+0.1 = - = - < 0.1+0.1 = 0.10.0 > + <[0.1+£0.0 = - = 0.1£0.1 > - < 0.120.0 = + > + - - = + + = + =
20:5/20:5 - = - = - < o+ > - = - < - = - = - < o+ > - = - < - - - = - - = - =
20:4/20:4 - = - = - < + > - = - < - = - = - < + > - = - < + - + = - - = - =
SFA/SFA [10.8+1.1 > 1.720.3 = 1.7+0.0 = 1.5+0.5 = 2.0£0.1 < 12.7+1.7 >|9.1£1.7 > 2.840.3 = 2.5+0.3 = 2.0£04 = 2.4+0.2 < 14.2+4.0 > [11.9+0.614.0+2.0{10.3+0.8 = 13.0+1.3 13.5+0.4 > 13.7+1.1 =
SFA/MUFA |29+0.2 > 1.7+0.6 = 2.6+0.8 = 3.120.9 = 1.9+04 < 3.24+0.9 =(3.620.7 = 3.4+0.8 = 2.7+0.6 < 3.840.1 > 2.7+0.6 = 3.4+0.8 =[3.740.2 3.2+1.0|3.5+0.3 = 3.0+0.7 4.6+02 = 3.2+0.7 =
MUFA/SFA - = - = - = - = - = - = - = - = - = - = - = - = - - - = - - = - =
SFA/PUFA [13.7+2.2 = 12.320.6 > 11.620.1 = 11.6£1.5 = 9.9+1.2 < 13.7+1.2 = [13.522.3=15.4+1.3 = 14.0+1.3 > 9.6+1.5 =11.0+0.7 < 15.8+1.6 > [10.4+0.613.0+1.2/12.7+1.3 = 13.3£3.8 12.0£0.2 = 18.0¢+1.2 =
PUFA/SFA |6.8+0.5 < 14.4+0.7 = 15.442.1 = 17.4+2.0 > 11.840.6 = 10.742.6 < |7.5+0.4 <12.4+0.7 = 13.0+1.0 < 16.320.6 = 15.1+1.2 = 17.4+4.1 = | 7.620.7 19.1+4.4 6.2+0.8 = 11.3+1.7 7.6+0.6 = 185+4.2 =
MUFA/MUFA| + = + = + = + = + = + = + = + = + = + = + = + + + + = + + = + =
MUFA/PUFA|[0.1£0.1 = 0.5+0.4 = 0.320.1 = 0.1+0.1 = 0.1+0.1 = 0.2+0.1 =|0.120.1 < 0.6+0.2 > 0.2+0.1 > + < 02401 > + = + 0.120.1{0.2+0.1 = 0.1x0.1 0.1£0.1 = 0.1x0.1 =
PUFA/ MUFA| + = 0.120.1 = 0.1+0.1 = + = 0404 = 0.120.1 = + = + <01+0.1 > + <0302 > + = + 02+0.2 + = 0.1x0.2 0.1+0.1 = + =
PUFA/PUFA [2.620.3 < 6.7+1.9 > 3.3+0.3 > 2.5+0.6 > 1.7+0.3 = 1.8+0.6 =|4.3+0.6 < 7.1+1.8 = 6.3x0.5 > 3.620.5 = 3.2+1.0 = 2.7+0.8 =|6.0£1.5 3.4+1.2({2.5+0.3 = 1.0+0.4 3.8+0.2 = 3.8+03 =
The upper part
of the blades of The upper part of the
The lower part of the blades of infected U. pinnatifida samples The upper intact part of the blades of infected U. pinnatifida in.f ecte.d‘ll. I)Taeczllzs‘t;rurri:fzztlh; blades O.f unig.f ected
PG samples pinnatifida . o U. pinnatifida
samples with U. pinnatifida samples samples
endophyte

Nov Dec Jan Feb. Apr. Jun. T| Nov Dec Jan Feb. Apr. Jun. T| Nov. Jun. Nov. S| Jun. S| Nov. S| Jun. S
14:0/16:3 + = > + > - < + > - = + > > - < > - = - < + + - =| 0.120.0 = + = - =
14:0/16:2 - < > - < + = > - < + + = + < + > + + - = - =10.1+0.0 > + =
14:0/16:2 + > - < + = + > - < + = + = - = - = - = - < + > + + = - = + = - =
14:0/16:1 | 0.1+0.0 > + = + = + = + = + =|0.1£0.0 = 0.1£0.1 > + < 0.1x0.1 > + < 0.1£0.0 =/0.1+0.0 0.2+0.1 + = - =(0.4+0.1 = + =
14:0/16:1 - = - = + = + + < + =10.10.0 > - < + + > + < 0.1+0.0 ={0.1+0.0 - + = - = + = + =
15:0/15:0 - = - = - < + = + > - < - = - = - = - = - < + > + 0.1£0.0 - = - = + = - =
14:0/16:0 [0.1+0.0 = + = + = + = + = 0.1£0.1 =|0.1£0.0 > + < + = + = + < 0.1£0.1 >|0.1+0.1 0.2+0.1|0.1+0.0 = + =(0.1£0.0 ={ 0.1+0.0 =
14:0/16:0 + = + > - < + = + = + > - < + = + > - < + = + > + + + = 0.1£0.0 = + = - =
16:1/15:0 + = + = + = + = + = + > + = + = + = + = + = + = + + + = - = + = + =
16:1/16:4 - = - < + > - < + > - = + > - < + = + > - = - < + + + = - = + = - =
14:1/18:3 [0.1+0.0 = 0.1+0.0 = 0.1x0.0 = 0.1x0.1 = 0.1+0.0 > + <|[0.1x0.1 = 0.1+0.0 = 0.1+0.0 = 0.120.0 = 0.120.0 = 0.1x0.0 =[0.2+0.0 0.1+0.0| 0.1+0.0 = - =10.2+0.0 = + =
16:1/16:2 - < + = + = + = + = + = + = + = + = + = + < 0.1x0.0 > + 0.1+0.0 + = + = + = - =
18:3/14:0 [{0.2£0.0 > 0.1+0.0 = 0.1x0.0 = + = 0.140.0 < 0.240.1 >[{0.2+0.1 > 0.1+0.0 = 0.1£0.0 > + < 0.1+0.0 < 0.320.1 >|0.2£0.0 0.2+0.0| 0.2£0.0 =| 0.240.1 =[0.2£0.1 =| 0.2+0.1 =
14:0/18:3 + = + < 0.1£0.0 = + < 0.140.0 = 0.1+0.0 =| + = + = + > + < + = + = + + + = + = + =1 0.1+0.0 =




16:1/16:1
14:0/18:2
16:0/16:2
14:0/18:1+
16:1/16:0+
16:0/16:1
16:0/16:0
15:0/18:4
15:0/18:3
17:3/16:0
15:0/18:2
17:2/16:0
15:0/18:1
15:0/18:1
17:1/16:0
15:0/18:0
18:3/16:2
14:0/20:5
18:3/16:1
18:3/16:1
18:3/16:0
16:0/18:3
18:2/16:1
18:1/16:1
16:0/18:2
16:0/18:2
18:1/16:1
16:0/18:1
16:0/18:1
16:0/18:0
17:1/18:3
18:2/17:1
17:0/18:3
19:2/16:0
17:0/18:2
18:1/17:0
17:0/18:1
17:0/18:0
18:5/18:5
16:4/20:5
18:4/18:4
18:3/18:4
18:4/18:3
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>

v

23.843.2 <
11.4+1.5 >

0.3+0.1
0.3+0.1
0.2+0.0

>
>

10.5£1.0 <

0.1+0.0
+

>

13.7+2.5 >

+

>
>

0.10.1
0.4+0.1
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VA AV
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+
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= + > + <
< 94404 <15.1+45 >

+ = + =
< + < + >
= - < + >
= 0.120.0 = 0.120.0 =
= + B + =
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0.1+0.0
0.2+0.1

0.6+0.1

0.3+0.0
0.3+0.1
33.9+1.6
5.9+0.6
0.1+0.0
0.3+0.1
0.2+0.1
13.4+1.4
0.1£0.0
+
8.9+0.5

A

A

\%

11

0.3+0.1
0.3+0.1

>

vV V V

ANV

35.843.6 <

7.1+0.9

0.2+0.0 =

>

0.4+0.1 <

0.1+0.0

<

14.2+1.1 <

0.1+0.0
+
79+1.1

\%

vV V.V AV

0.1+0.0
0.2+0.1

0.2+0.2

+ o+ o+ o+

N
0.10.0
0.2+0.0

46.6+1.1
3.4+0.7
0.2:0.1
1.120.4
0.4+0.3

18.11.2
0.1:0.0

+
8.3+0.2
+

+ o+

0.1+0.0

+ o+

0.2+0.1
0.940.1

= 0.1+00 = + =
= 0.3x0.1 = 04402 =
< + < 0.1+£0.0 >
< 0.9+0.2 > 0.620.0 >
= + < 0.1£0.0 >
= 0.1+0.0 = 0.1x0.2 =
= + < 0.2+0.1 >
= - < + >
= 0.1+0.0 = 0.1x0.2 =
< + > - =
< + < 0.2£0.0 >
= + < 0.1£0.1 =
= + = + =
= + = + >
= + < + >
= 0.1+0.0 > 0.1x0.0 <
= 0.2+0.1 = 0.3x0.2 =
> 40.1+3.5 = 28.6+10.9 <
< 5.6+04 < 15.2+6.7 >
= 02+0.0 = 0.2+0.0 =
> 0.6£0.2 = 0.9+0.6 =
= 0.5+0.1 > 0.3x0.0 =
=18.4+1.0 > 13.3+0.8 <
= 0.120.0 = 0.120.0 =
= + = 0.1£0.0 =
< 9.2+0.5 = 10.5+2.3 =
= + = 0.1£0.1 =
< + < + >
= + > - <
= + < 0.1+£0.1 >
= + B + B
= 0.2+0.0 < 0.3x0.1 >
= - < + >
< 0.1+0.0 < 0.2+0.1 >
= + = + =
< + > - =
= + > - <
= 0.1+0.0 < 0.240.0 >
< 0.7#0.2 < 1.3x0.2 >
= 12+04 > 0.240.0 <

+ 0.1+0.0
0.2+0.1 0.5+0.1
+ +

0.9+0.2 0.9+0.1

+ 0.1+0.0
0.1+0.1 0.1+0.1

0.1x0.0 0.20.1
+ +
0.120.0 0.1x0.1
- +

+ 0.1£0.0
0.1+0.1 0.240.2
+ 0.1+0.0
- +
+ +
0.2+0.1 0.2+0.2

0.3+0.1 0.2#0.1
34.0£3.226.6£7.5
6.9+0.4 12.8+5.5
0.3+0.0 0.1+0.0
0.4+0.1 0.9+0.4
0.3+0.2 0.8+0.6
9.3+0.1 10.3+0.4
0.1£0.0 0.1£0.0

+ +
15.4+1.5 9.8+1.7
+ +
- +
- +

0.1x0.0 0.1x0.0
01:01  +
02+0.0 0.120.1
+ -
03:0.0 0.2+0.1

+ +
0.1+0.1 +
+ -

1.2+0.3 0.8+0.3
4.9+0.6 8.5+0.8
1.1£0.1 0.6+0.4

0.10.0 =
0.420.0 =
24.040.8 =
12.120.6 =
04403 =
0.120.0 =
0.2:0.0 =
11.1:0.5 =
0.120.0 =

+ =
13.8:0.3 =

0.420.1
9.6+5.5
31.843.9
0.30.3
0.7+0.6
0.10.0
15.142.6
0.30.0
+
12.8+0.4
+

0.1+0.0
0.420.1

2.0+0.5

0.1+0.0
0.120.0

0.1+0.0

0.1:0.0
0.10.0
+
+
03+0.0
0.30.0
37.342.6
6.90.3
0.10.1
0.5:0.0
0.70.2
10.3+1.0
0.1x0.1
+
14.7+0.5

0.1+0.0
0.2+0.1

0.6+0.1

0.1+0.1
0.420.1

0.1+0.1

0.1:0.0
0.1:0.0
+
+
0.1:0.0
0.3+0.0
30.6+1.5
18.6+3.6
0.2+0.0
0.7+0.1
0.2+0.1
10.8+1.0
+
0.1:0.0
9.2+0.2
0.1:0.0
+
+

=10.1+0.0

0.2+0.0

0.4+0.2

0.2+0.0

0.1+0.0
1.5£1.3
0.2+0.1




18:3/18:3
18:3/18:3
18:3/18:2
18:2/18:3
18:1/18:4
20:5/16:0
16:0/20:5
18:2/18:2
18:1/18:3+
18:3/18:1
16:0/20:4
20:4/16:0
16:0/20:4
18:1/18:2
18:0/18:3
18:0/18:3
20:2/16:1
18:1/18:1
18:1/18:1
18:0/18:2
18:0/18:1
18:0/18:0
18:4/19:2
18:3/19:2
19:2/18:3
19:1/18:3
19:1/18:2
19:1/18:1
18:1/19:0
20:5/18:4
18:4/20:5
20:5/18:3
18:3/20:5
20:4/18:3
18:3/20:4
18:2/20:5
18:3/20:3
18:2/20:4
18:2/20:4
18:1/20:5
20:3/18:2
18:1/20:4
20:4/18:0

20.2+4.5
0.1+£0.0
2.0+0.3
0.1+0.0

+

+
0.120.0
0.7+0.1

0.2+0.1

0.1£0.0
0.1£0.1
0.2+0.1
0.6+0.0
0.1£0.1
1.1+0.1
0.1+0.1
0.420.1
0.1£0.0
2.4+0.3
3.4+0.1

0.1+0.0
0.1+0.0

+ o+ o+

Il vV V. VvV I
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AN NV I ARV |
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0.1+0.0
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2.2+0.9
0.1+0.1
0.1+0.0
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VvV A

\%
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nmn A

A
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1.6+0.3
+
+
0.1£0.0
0.10.0
0.4+0.1

0.3+0.0
0.1+0.1
0.2+0.0
0.4+0.1

0.120.0
0.9+0.2

0.2+0.1

2.1+0.0
2.4+0.3

0.1+0.0
0.1+0.0

+ o+ o+
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Il vV V. VvV I
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+ o+ o+

\%

ANV

v AV

vV AV
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ANV A

10.2+6.2
0.240.1
44432
+
0.10.0
0.10.0
0.2:0.1
1.4+1.0

0.2+0.1

0.3£0.1
0.1+0.1
0.6+0.2
0.4+0.1
0.2+0.1
0.6+0.1
+
0.1+0.1
0.1+0.0
1.8+0.5
1.4+0.6
0.1+0.1
0.1+0.1
0.1+0.0
+
0.1+0.0

+

0.1+0.1

0.1£0.1
0.1+0.0
0.1+0.0
0.1£0.0

0.1+0.0
0.1+0.0
0.1+0.1

0.1+0.1

= 0.1x0.1
0.1+0.0 =

vV V IV A

\Y

A AV I

9.7+0.7 11.943.7|

0.120.0
1.840.1
0.1+0.0
+
0.1+£0.1
0.3+0.1
0.5+0.2

0.2+0.1

0.3+0.0
0.120.2
0.3+0.1
0.4+0.0
0.2+0.1
0.840.2
+
0.2+0.1
0.1+£0.1
1.7+0.2
1.5+0.5
0.2+0.2
0.120.1

0.10.1
3.2+0.8
0.1x0.1
+
0.10.1
0.5+0.1
1.120.1

0.2+0.1

0.4+0.4
+
0.5+0.1
0.7+0.1
0.2+0.2
0.3+0.1
0.2+0.0
0.1x0.0
14405
0.9+0.3
0.120.1
0.2+0.1

0.1£0.1
0.1£0.0
0.3+0.2
+
0.1£0.1
0.1£0.1
+
0.1+0.1
0.1+0.1
0.1:0.1
0.1£0.0
+
0.2+0.1
0.1x0.1

19.842.9
+
1.5+£0.0

+ o+ + + o+ o+ o+ o+ o+

+ o+ o+

12.8+1.0
0.1+£0.0
4.0+0.5

7.2+0.5
0.1x0.0
1.4+0.1
0.1+0.0

0.3+0.0
0.60.1
0.3+0.0

0.3+0.0
0.4+0.3
0.4+0.0

0.3+0.0
0.2+0.1

0.8+0.1 =

0.3+0.0

1.6+0.2
2.2+0.0
0.1+0.0
0.1+0.0

+ o+ o+ o+

10.6:0.7
0.120.0
43+14
0.10.0

+

+
0.240.0
1.240.3

0.6+0.6

0.310.2
0.1+£0.0
0.4+0.0
0.5+0.0
0.1+£0.0
0.5+0.0

0.1+0.1
0.2+0.0
1.3+0.1
1.3+0.1
0.1+0.0
0.2+0.0
0.1+0.1

0.1+0.1

0.1+0.1

0.1+0.0
0.1£0.0
0.1£0.0
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18:0/20:4 - < + - = - = - = - = + = + > - = - < + < + > - - - = - = + = - =
20:5/20:5 - = - + = - < + > - = - = - = - = - < + > - = + - - = - = - + =
20:4/20:5 + = 0.140.0 = + = + = + = + = + = + = + = + = + = + =10.1+0.0 + + = - = + = + =
18:3/16:1-OH + = + < + = + = + = + = + < 0.1+0.0 = 0.1+0.0 = + = + = + = + + + = - =|0.1£0.0 > + =
18:3/16:0-OH [2.9+0.7 = 3.840.8 < 5.6+0.8 = 5.5+1.1 > 3.9+0.3 > 1.3+0.6 <|5.1+0.1 < 7.4+0.6 < 9.2+0.4 > 7.9+0.3 > 6.5¢0.2 > 2.0+1.3 <|3.2+0.1 1.3+0.7 | 3.4+0.4 =| 1.0£t04 =|3.840.8 =|1.9+1.0 =
18:2/16:0-OH | 0.1£0.0 = + = 0.120.1 = 0.2#0.1 > 0.120.0 = 0.2#0.0 =|0.120.0 > 0.1+0.0 < 0.1+0.0 < 0.3x0.1 = 0.2+0.1 = 0.2+0.1 < + 0.1+0.1 + =/ 0.1#0.1 =|{0.140.0 =| 0.1£0.1 =
SFA/SFA |02+0.0 = 0.120.1 = 0.1+0.0 = 0.1+0.0 = 0.120.0 < 0.3x0.1 >[0.1+0.1 > 0.1x0.0 = + = + = 0.1£0.0 < 0.4+0.1 >|0.3+0.2 0.5+0.2|0.1£0.0 = 0.4+0.4 =[0.2£0.1 = 0.2+0.1 =
SFA/MUFA [18.0+2.6 > 7.8+1.0 > 6.240.6 = 8.0+1.9 < 10.7#0.5 < 17.945.3 >[17.820.9 > 10.8+0.7 = 9.3¢1.2 = 9.240.3 < 10.620.4 = 13.0£3.1 >|18.0+2.112.0+1.7|17.520.3 = 15.0+0.4 =|19.0+0.3 = 11.3+0.5 =
MUFA/SFA - = - = - = - = - = - = - = - = - = - = - = - = - - - = - = - = - =
SFA/PUFA [15.5¢1.1 = 16.1+0.9 <19.1+2.2 < 27.9+1.3 = 29.8+1.6 > 18.1+2.7 <[13.74+0.4 < 17.6+1.7 = 18.0£1.5 < 21.6+1.4 = 22.5+1.0 > 18.6+1.2 <|14.0+0.515.2+0.7|16.1+1.6 = 18.8+1.6 =|15.9+1.4 = 15.3+0.7 <
PUFA/SFA (14.7+0.9 > 12.9+0.3 <17.7+0.9 > 13.5+1.1 = 13.840.7 < 28.0+3.5 >[12.7+0.2 < 13.5+0.2 < 16.5+1.0 > 11.8+0.9 = 12.4+0.3 = 17.8+5.1 >|10.740.514.5+4.7|15.9+1.0 = 33.1+3.4 =|11.3+0.2 < 20.9+2.8 =
IMUFA/MUEA| 0.7+0.1 > 0.440.1 = 0.3x0.1 = 0.320.0 = 0.2+0.1 = 0.6+0.3 =|0.5+0.1 = 0.5#0.1 > 0.3x0.1 < 0.7+0.3 = 0.720.1 = 0.6+0.0 =|0.7£0.0 1.1+0.6 | 0.6+0.1 = 0.520.2 =|1.2+0.2 = 0.5+0.3 =
MUFA/PUFA|[0.9+0.1 = 0.9+0.1 > 0.60.1 = 0.7+0.2 = 0.5+0.1 = 0.9+0.4 =|0.8£0.2 = 0.9+0.1 = 0.8+0.1 = 0.8+0.1 = 0.6x0.2 = 0.8+0.2 =|0.9£0.2 1.1+0.1|0.8+0.0 = 1.3x04 =|0.9+0.0 = 0.9+0.2 =
PUFA/ MUFA[24.6+3.3 < 29.6+2.7 =29.943.7 = 34.0+5.2 > 24.5+1.1 > 16.1+6.9 <(39.2+1.1 > 34.7+1.5 = 36.6+3.5 < 48.0+1.5 > 40.9+3.3 =29.9+11.2 <(34.9+3.2 27.8+7.8|24.7+0.8 = 10.9+6.3 =(38.3+2.5 = 32.0+2.0 =
PUFA/PUFA [25.3+5.2 = 32.1+3.2 > 26.0+1.1 > 15.3+4.9 = 20.3+1.6 = 17.8+6.3 =(14.8+0.2 < 21.7+1.8 > 18.2+1.2 > 7.8+0.5 < 11.8+2.8 =18.6+10.6 =(20.2+1.1 27.4+3.7|24.0+3.0 = 19.9+1.8 =(12.5+0.9 = 18.7+0.4 =
The upper part
. . . - of.the blades of The lower part of the |The upper part of the
The lower part of the blades of infected U. pinnatifida samples The upper intact part of the blades of infected UL pitnatifida m'f ecte'd' U blades of u};infected blade};};f uljﬁnfected
PE samples pinnatifida U. pinnatifida samples|UL. pinnatifida samples
samples with P P P P
endophyte
Nowv Dec Jan. Feb. Apr. Jun. T| Nowv Dec Jan Feb. Apr. Jun. T| Nov. Jun. [ Nov. S| Jun. S| Nov. S| Jun. S
16:1/14:0 - = - < + < + = + > - < + > - = - < + = + < 0302 > + 0.4+0.3 - = - = + =10.1£0.1 =
15:0/15:0 - = - = - < + > - = - < - = - = - < + > + = + = + + - = + = + = + =
16:1/16:1 + = + = + = + = + = 0.1£0.1 =]0.120.0=0.240.1 = 0.1+0.1 < 0.3+0.1 > 0.240.1 < 0.4+40.1 =[0.3£0.2 0.9+0.7 + = + =(0.340.0 =[0.240.2 =
14:0/18:2 0.1£0.0 = + = + = + = + = + = + =+ =0.120.0 = 0.120.0 = 0.120.0 = 0.120.1 ={0.1£0.0 0.1£0.0({0.1£0.0 =|0.1£0.0 = + = + =
14:0/18:1 0.1£0.0 > + < + = + = + < 0.10.0 ={0.120.0= + = + < 0.1£0.0 > + = 0.240.2 =[0.2+0.0 0.4+0.3|0.1£0.0 =|0.1£0.0 ={0.1£0.0 =[0.1£0.2 =
16:0/16:1 | + > - < 4+ > - < 4+ = 4+ > 4+ > - < 4+ = + < + =+ > + 4+ | - =+ = - = - =
16:0/16:0 + > + < + = + = + < 0.1+0.0 > + > + = + = + = + = + = + + + = + = + = + =
16:3/18:4 + > - < + =+ > - = - <[ + > - < 4+ > 4+ > - < 4+ > 4+ o+ | 4+ =+ =+ = - =
16:3/18:3 + = + = + = - < + > - = + > + = + > - < + < + > + + + = - = + = + =
20:5/14:0 + = + = + = + > + = + = + = + > + = + = + = + = + + + = - = + = + =
14:0/20:5 1.1£0.2 < 1.420.1 14403 = 1.6£0.5 = 1.9£0.3 > 0.4£0.1 <|1.0£0.2=1.020.0 > 0.840.0 = 0.820.2 < 1.020.1 > 0.620.1 =[1.120.1 1.0£0.1|1.6£0.1 >|0.2+0.1 =|1.240.0 =[0.6£0.1 =
14:0/20:4 0.1£0.0 = 0.120.0 = 0.1£0.0 = 0.120.0 = 0.1£0.0 > + = + =0.120.0 < 0.120.0 = 0.120.0 = + = + =(0.120.1 + 0.2+0.0 = + =(0.120.0 = + =
14:0/20:4 3.6+0.7 > 1.1£0.1 = 1.240.2 = 1.1£0.3 < 2.0+£0.3 < 3.940.6 >|1.940.2> 1.240.1 > 1.0+£0.1 = 0.9+0.1 = 1.0+0.1 < 2.440.3 >[1.740.5 2.3£0.8|4.1£0.2 =|3.6+0.1 =[1.840.0 =[2.6£0.3 =
18:2/16:1 + = + = + = + = + = + = + = 4+ = 4+ = 02+03 = + < + =(0.1£0.0 0.1x0.0 + = + = + = + =
18:2/16:1 - = - = - < + = + = + = + > - < o+ < 0402 > + < 0.120.1 <|0.1£0.0 0.240.1 + = - =10.44£0.0 = - =
18:1/16:2 0.1£0.0 > + = 0.120.0 = + < 0.1£0.0 = 0.1£0.0 =[0.1£0.0=0.240.1 = 0.12£0.1 = 0.120.0 = 0.1£0.0 = 0.1£0.0 ={0.2+0.2 0.1£0.0|0.240.1 = - =(0.240.2 =(0.1£0.1 =
16:0/18:3 0.3£0.0 > 0.240.0 = 0.3£0.1 > 0.1£0.0 < 0.240.0 = 0.240.2 ={0.1£0.1 =0.12£0.0 = 0.1£0.0 > 0.1£0.0 = 0.1£0.0 = 0.1£0.0 =|0.1£0.1 + 0.4+0.1 ={0.240.0 =|0.1£0.0 =|0.1£0.0 =
18:1/16:1 + = + = + = + = + = + =10.240.1 =0.240.2 = 0.120.1 < 0.4+0.1 = 0.3x0.1 = 0.720.4 ={0.7+0.3 1.8+1.5|0.1£0.0 = + =[1.0£0.1 > [0440.5 =
16:0/18:2 0.440.1 > 0.240.1 = 0.240.0 = 0.1£0.1 = 0.240.1 < 0.5£0.1 > [0.240.1 =0.2+0.0 = 0.240.1 = 0.2+0.0 = 0.1£0.0 = 0.1£0.0 =|0.1£0.0 0.1£0.0{0.3+0.0 =(0.4+£0.2 =|0.1+0.1 =|0.3+x0.2 =
16:0/18:1 0.24£0.1 > + > + = + = + < 0.34#0.1 >[0.1£0.0= + = + = 0.120.0 > + = 0.120.1 ={0.2+0.3 0.24+0.1|0.1£0.0 =]0.2+0.0 ={0.1£0.0 =[0.1£0.0 =




18:0/16:0
18:4/17:2
20:5/15:0
20:4/15:0
17:1/18:2
18:3/18:4
18:4/18:3
18:3/18:3
16:1/20:5
18:3/18:2
18:2/18:3
16:1/20:4
16:0/20:5
18:2/18:2
18:3/18:1
20:4/16:0
16:0/20:4
18:1/18:2
16:0/20:3
18:1/18:1
18:1/18:1
18:0/18:2
16:0/20:1
18:0/18:1
18:0/18:0
20:5/18:5
20:5/18:4
18:4/20:5
20:3/18:5
20:5/18:3
18:3/20:5
20:4/18:4
18:4/20:4
20:4/18:3
18:3/20:4
20:4/18:3
18:3/20:3
20:4/18:2
18:2/20:4
18:1/20:5
18:1/20:5
16:1/22:5
16:0/22:6

0.1+0.0
0.2+0.0

0.1+0.0

0.1+0.1
0.1+0.0
0.1+0.0

0.3+0.1
5.3+1.0
+
+

0.6+0.2 =
11.2+0.6 >

0.120.0
0.4+0.0
+
0.120.1
0.1x0.0
+
0.120.0

0.5£0.1

0.5+0.0
1.4+0.3

2.6x0.5
0.1+0.0

1.740.3
1.4+0.2

>

v

N AN

0.1+0.0

0.1£0.0 =

0.2+0.0
0.1+0.0
0.2+0.0
0.4+0.1
0.240.1
+
0.3+0.0
10.1£0.3
+
0.7+0.0
43404

0.3+0.1 =

0.1+0.0

+ o+

1.12£0.0
+

4.6+0.8

1.4+0.2

8.4+1.1
0.1+0.0

1.8+0.3
4.0+0.6

N

+
+
0.1£0.0
0.1£0.0
+
0.120.0
0.240.1
0.120.1
0.520.1
0.240.1
+
0.320.1

12.7+2.2

0.1+0.0
0.1+0.0

0.1+0.0
0.1£0.0
0.5+£0.2
+
+
0.3£0.0
11.9+0.8
0.1+0.0
+
0.6+0.1
6.3+0.6
+
0.30.0

ANV V A

+
+
0.10.0
0.10.0
+
0.10.0
0.10.0
0.10.0
0.240.0
0.10.0
+
0.240.1
10.940.5
+
+
0.6£0.0
8.0£0.4

0.4+0.0

0.1+0.0

+ o+

0.4+0.0
+

1.8+0.1
0.8+0.1

= 54403

0.1+0.0

0.3+0.0

2.440.2
2.140.1

n v A Vv v 1

v VvV Vv

v

0.2+0.0

+ +

0.120.1
+
+
0.2+0.0
22408
0.1£0.0
+
0.120.1
19.1£1.5
+
0.320.0

AN VoA A

Al

AN ANV oA A
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+ = - = -

0.1£0.0 = 0.1+0.0 < 0.1+0.0

0.240.1 > 0.140.0 = 0.1+0.0

+ <0.1£0.1 =0.1£0.0
+ = + =0.1200
+ <0.2+0.0 > 0.1£0.0
0.140.0 < 0.2+0.0 = 0.320.1
+ =0.120.0 = 0.1£0.0

0.1+00> + = +
0.1£0.0 < 0.2+0.0 = 0.2+0.1
5.5+0.3 < 7.440.8 < 8.4+0.2

+ = + > o+

+ > - < 4+
0.3£0.1 =0.320.1 = 0.4+0.1
9.1£0.3 > 6.0+0.1 = 6.2+0.4

+ = + = +
0.2+0.1 =0.2+0.1 = 0.2+0.1

+ = + = +

+ > + = +
0.1£0.0= + =0.120.0

- = - <+

+ = + = +

+ = + = +

+ < + =0.100
0.3£0.0 < 0.840.1 = 0.7+0.1

+ = + = +

+ = + = +
0.5+£0.0 < 2.7+0.5 = 2.8+0.8
0.4+0.2 < 1.1£0.1 = 1.2+0.1

+ = + = +

+ = + = +
2.0+0.4 < 6.5£0.5 > 5.6+0.5
0.1£0.0 =0.1+0.0 = 0.1£0.0

+ = + = +

+ < + = +

+ = - = -
1.5+£0.0 < 2.940.7 = 2.3+0.2
0.84£0.0 < 1.4+0.4 = 1.420.1

+ < + = +

+ = + = +

+ = + = +

v v Al

+ o+

0.2+0.0
+

0.9+0.2
0.4+0.0

4.540.6
0.1+0.0

0.1£0.1
0.1+0.1
2.840.4
1.0£0.0

nmn v

0.1+0.0
0.1+0.0

0.1+0.0

= 0.2+0.1

A

\4

0.2+0.0
9.8+0.2

0.3+0.1

8.3+0.8

0.2+0.0

0.1+0.0

+ o+ +

0.2+0.1
+

1.2+0.1

0.4+0.1

4.4+40.3

0.1+0.0

0.1+0.0

2.8+0.2
0.8+0.2

v i v oA

AN AN VoA

N

Vol

0.2+0.0
0.5£0.1

+ +

0.1£0.1

+
0.120.1
0.1+0.0
3.8+0.4

+

+
0.1+0.0
15.843.1
0.1+0.0
0.240.2
0.1+0.0
0.120.1

+

+
0.120.1

0.240.1

0.2+0.2
0.7+0.4

1.1+0.4
0.1+0.0

1.8+0.3
0.2+0.0

V4

AN NV

n v A

N N N AN

+ .
+ -
0.240.1
0.6+0.2

- +
0.1+00  +

+ +

+ 0.1x0.0
0.240.1

+ +

+ +
0.240.1 0.240.1
6.4+0.3 6.3+0.5

+ +
0.1+0.0 0.1£0.1
0.5£0.1 0.2+0.1
7.540.5 13.3+1.5
0.1£0.0 0.1+0.0
0.1£0.1 0.2+0.0
0.1£0.1 0.1+0.0
0.120.1 0.120.1
0.1+0.1  +

+ +
0.1£0.0 0.1+0.0

+ +
0.5+0.1 1.0+0.2

+ 0101

+ +
0.7#0.2 0.240.1
0.840.4 1.420.5
0.1+00  +
0.1+00  +
2.0+£0.3 1.4+0.1
0.1x0.0 +

+ +
0.1+00  +

- +
1.3£0.2 1.440.2
0.840.0 0.4+0.1
0.1£00  +

+ +

- +

0.1+0.0
0.2+0.0

0.1+0.0
0.1+0.0
0.2+0.0
0.1+0.0
0.1+0.0

0.3+0.0
6.2+0.4
+
+
0.740.1
12.7£0.5
+
0.520.1

0.1+0.1

19.8+1.8

0.1+0.0

0.4+0.0
+

+
+
+

0.2+0.0
0.1+0.0
0.1+0.1

0.3+0.0
0.7+0.0

1.2+£0.0
0.1+0.0

2.5+0.3
0.3+0.2

0.1+0.0
0.2+0.0
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18:2/20:3 0.120.0 < 0.120.0 = 0.1£0.0 = 0.1£0.1 = 0.1£0.0 > + <[0.120.0 =0.1£0.0 = 0.1£0.0 = 0.1£0.0 > 0.1£0.0 > + <[0.1£0.0 0.140.0|0.1+0.0 = + = + = + =
18:1/20:4 1.7£04 > 1.0£0.2 > 0.8£0.1 = 0.9£0.3 = 1.0£0.1 < 1.8+£0.5 >|0.84£0.1 =0.8+0.3 = 0.6£0.0 = 0.6+0.1 > 0.5+0.1 = 0.4£0.1 ={0.5+0.1 0.4+0.1|1.5£0.0 =|1.6£04 =[0.6£0.0 < [0.440.1 =
18:0/20:5 1.3+04 = 1.6£0.2 > 1.0£0.1 < 1.3#0.1 < 1.7£0.3 > 0.6+0.2 <|1.5£0.1 =1.320.3 = 1.320.0 = 1.1204 = 12404 = 1.120.7 =[1.740.1 1.5+£0.7|1.240.2 =|04+0.3 =|1.4+0.1 =[1.0£0.3 =
18:1/20:3 + > + = + < + = + = - < + = + < 4+ = + = + = - < + + + = - = - = - =
20:4/18:0 0.1+0.1 = 0.1£0.0 > + = + = + = 0.120.0 = + = + = + = + = + < + = + + 0.1£0.0 = - = + = + =
18:0/20:4 22402 > 0.7£0.2 = 0.440.1 < 0.7#0.1 < 1.120.1 < 4.240.8 >|2.6£0.2> 1.1£0.1 = 1.0£0.1 = 1.0£0.2 = 1.120.2 < 4.2+1.2 >[1.940.1 2.9+0.4|2.240.1 =|3.9+0.5 =(2.0£0.3 =[4.7£1.2 =
20:5/20:5 3.440.6 <10.4+1.0 = 9.7£0.5 > 6.5+03 = 6.240.2 > 0.4+0.3 <[3.9+0.5 <8.7#0.6 =9.8+1.3 > 4.6+0.9 = 4.8+0.3 > 1.1£0.6 <[6.8+0.7 4.940.7|3.620.1 =[0.120.0 =[5.1x02 > [0.8+0.3 =
22:5/18:4 0440.0 < 1.240.2 > 0.8£0.2 = 0.7£0.2 = 0.740.1 > + <10.440.1 < 0.720.1 < 0.9£0.1 > 0.5£0.3 = 0.620.1 > 0.120.1 <|0.8+0.1 0.5£0.1{0.4+0.0 = + =(0.840.0 > [0.2£0.1 =
20:4/20:5 24.0+£1.5 < 27.0£1.4 = 28.444.5 = 29.9+2.6 > 25.5+0.7 > 9.1+£3.2 <[28.2+0.9=29.5+1.5=30.9+£2.9 = 29.8+1.1 < 32.0+1.3 > 13.0+3.3 <[30.3+£0.419.7£1.422.3+3.3 = [6.6£1.6 = [28.8+1.0 = [12.7£3.6 =
18:3/22:5 + < + = + = + = + = + = + = + =+ = + = + < + = + 0.1+0.0 + = + = + = + =
220035//22005; 21403 < 29802 > 2.540.1 = 2.640.5 = 2.6£0.1 > 0.4%0.1 <|1.5802<2.540.1 = 28+0.4 = 2.5¢0.4 > 19803 > 0.740.1 <|2.0:0.3 1.0£0.1|2.840.6 =|0.440.1 =|1.940.1 = [0.8£0.3 =
20:4/20:4 25.1£0.8 > 8.2+1.3 = 99422 = 13.1+1.8 < 15.5+0.7 < 41.244.9 > 29.5+0.2>15.1+2.6=13.9+£0.8 < 21.4+2.0 > 18.5+0.9 < 38.4+3.8 > 22.5+0.725.6+2.821.5+0.6 < 46.1+£2.5 = 24.6+1.5 = 38.9+5.4 =
20:4/20:3 1.0+£0.1 > 0.3+0.3 = 0.1£0.2 < 0.7£04 = 0.7+0.3 > 0.1£0.0 <|0.1£0.1 =0.120.2 < 0.8+0.3 = 0.8+0.4 = 0.740.1 > 0.320.2 =(0.1£0.1 0.1+£0.1|0.6£0.9 ={0.8+0.0 > + =0.120.0 =
20:3/20:4 0.440.2 = 0440.1 = 0440.0 = 03204 = 0.620.1 = 0.8£0.1 > [0.3£0.0 = 0.5+£0.0 = 0.3£0.0 = 0.3£0.3 = 0.2+0.0 = 0.2+0.0 =|0.1£0.0 0.2+0.1 - = - = - =(04+0.0 >
20:4/20:2 0.1£0.1 = 0.120.0 = 0.240.0 = 0.2+0.0 = 0.2+0.0 > + <[0.120.0 =0.1£0.0 = 0.2+0.0 = 0.2+0.0 = 0.2+0.1 > 0.12£0.1 <[0.1£0.0 0.120.0|0.120.1 = + =(0.120.0 =(0.1£0.0 =
20:4/20:2 + = + = + = + = + = + = + =0.120.0= + = + = + = + <10.1+0.0 + + = + = + = + =
20:2/20:4 + = + = + = 4+ = 4+ > - <| + = 4+ = 4+ =+ =+ > - = 4+ 4+ | 4+ = + = - =\ - =
20:1/20:5 + = + = + = + = + < + =[0.1x0.0> + =+ = + = + > - < - + + = + = + = + =
20:4/20:1 0.1£0.0 > + > + < + = + = + = + = + > + = + = + = + = + + + =10.120.0 = + =10.7£09 =
20:0/20:5 1.5£0.3 < 2.7#0.1 > 1.9+0.3 < 2.6+0.3 = 2.9+0.2 > 0.8+0.3 <|1.9+0.3 <2.8+0.3 =2.6+0.3 > 2.1+0.3 < 29403 > 1.7420.9 =[2.120.1 2.1£0.4|1.840.1 =|04+0.2 =(2.240.3 =[1.5+0.3 =
20:0/20:4 3.120.2 > 1.0£0.1 = 0.8+0.3 < 1.320.1 < 1.840.1 < 5.7£0.6 > [3.420.4>2.3+0.3 > 1.840.2 = 2.0+0.2 < 2.420.1 < 6.9+£0.6 >[3.0+0.1 4.820.5|2.940.4 =[5.840.6 =|3.1+0.3 74x1.3 =
20:4/22:2 + >+ > - = - = - <+ > - <+ = 4+ > - < 4+ 0=+ > - + - = + = + = - =
20:5/22:0 + < 0.1+0.0 = 0.1+0.0 < 0.240.0 = 0.120.1 > + < + <0.120.0 = 0.120.0 = 0.1£0.0 < 0.2+0.0 > 0.120.1 ={0.1£0.0 0.1+0.1{0.1£0.0 = + =(0.120.0 = + =
22:0/20:5 + > - = - < + = + > - < + > - = - < + > + > - < - 0.1+0.0 - = - = - = + =
22:0/20:4 0.240.1 > + > + < 0.120.0 = 0.120.0 < 0.2+0.1 > [0.1£0.0> 0.1£0.0 = 0.120.0 = 0.1£0.0 = 0.120.0 < 0.2+0.1 >{0.1£0.0 0.2+0.0|0.1£0.0 ={0.2+0.1 =[0.1£0.0 =[0.2+0.1 =
22:6/22:6 - = - = - = - = - = - = - = - <+ > - = - = - = - - - = + = - = - =
22:5/22:6 - = - = - = - = - < + > - = - = - = - < + > - = - - + = - = - = - =
22:4/22:4 - = - = - = - = - < + > - = - = - = - = - = - = - - - = - = - = - =
22:5/22:2 - = - = - - = - = - = + > - < 4+ > - = - = - = + - - = - = + = - =
22:5/22:1 + = + = + = + = + = + = - <+ < 4+ = + = + > - < - + + = - = + = + =
24:0/20:5 0.120.1 = 0.240.0 = 0.1£0.0 < 0.2+0.1 = 0.2+0.0 > + <(0.120.0=0.120.0 = 0.1£0.0 = 0.1£0.1 = 0.1£0.0 = 0.1£0.0 ={0.2+0.1 0.1£0.1{0.1£0.0 =|0.1£0.0 ={0.1£0.0 =|0.1£0.0 =
24:0/20:4 0.240.0 > 0.120.0 = + = 0.120.0 = 0.1£0.0 < 0.440.0 >|0.120.0=0.1200= + = 0.120.1 = 0.1£0.0 < 0.240.1 >|0.120.1 0.2+0.1{0.240.0 =|0.320.1 =|0.120.0 =|0.3£0.1 =
SFA/SFA 0.120.0 = + < 0.120.0 = + = + < 0.240.1 >[0.10.0> + = + = + = + < 0.2£0.0 >{0.1£0.0 0.240.0|0.1£0.0 ={0.2+0.0 =[0.1£0.0 = 0.1+0.0 <
SFA/MUFA 0.3£0.1 > 0.120.0 = 0.120.0 = 0.120.0 = 0.120.0 < 0.420.1 > [0.120.0=0.12£0.0 = 0.1£0.0 < 0.2+£0.0 > 0.1£0.0 = 0.3+0.3 =|0.4+0.3 0.7420.4{0.20.0 =(0.320.0 ={0.320.1 = 03402 =
MUFA/SFA - = - = - = - = - = - = - = - = - = - = - = - = - - - = - = - = - =
SFA/PUFA  [31.0+0.6 > 24.0+£0.9 = 25.9+1.9 = 27.8+1.1 < 31.5+0.5 < 38.6+2.2 > [27.8+0.8>23.941.4=23.9+1.2 < 25.8+0.6 < 28.5+0.7 < 37.6£1.0 > [26.5+0.235.1+3.2[34.7+1.1 = [37.7+0.2 = 29.5+0.8 = 37.7+0.5 =
PUFA/SFA 1.0£0.2 = 1.1£0.0 = 1.120.3 = 1.0£0.2 = 0.9+£0.1 > 0.4+0.1 <|0.6£0.1 =0.740.1 = 0.7+0.1 = 0.7£0.0 = 0.6+0.1 = 0.8+0.1 =[1.0+0.1 1.1£0.3|1.2+0.1 =|0.4+0.1 =[0.7£0.0 = 1.0£0.5 =
MUFA/MUFA [0.1£0.0 > + = + = 0.120.1 = + = 0.120.0 =|0.320.1 =0.4£0.4 = 0.2+0.1 < 0.720.2 = 0.5+0.2 = 1.120.6 =[1.0+0.5 2.7£2.3|0.1£0.0 =|0.1£0.1 =[1.4+£0.0 > 0.620.7 =
MUFA/PUFA [5440.6 < 7.6£0.8 = 6.6+0.9 = 6.5+1.3 = 6.1£0.3 = 5.0+1.1 =|3.440.2<5.940.1 > 49+0.2 = 5.120.2 > 4.5+0.2 > 2.840.4 <|3.3+0.6 2.840.3|5.320.3 =|4.7+0.2 =3.3+0.5 = 3.020.1 =
PUFA/MUFA |0.1£0.0 = 0.120.0 = 0.120.0 = 0.120.1 = 0.120.0 = 0.120.0 =[0.120.0= + <0.120.0 < 0.62£0.4 > 0.120.0 = 0.2+0.1 ={0.2+0.1 0.320.2|0.120.0 ={0.120.0 =[0.3x0.3 = 0.8409 =
PUFA/PUFA [63.840.4 < 68.9+1.1 = 68.1£2.7 = 66.8+£2.0 > 63.6+0.7 > 57.7+2.6 < 69.0£1.0<71.8+1.5=72.4+1.2 > 69.6+0.1 > 68.4+0.7 > 58.3+0.4 < [68.7+0.258.0+4.8/60.2+1.0 = [59.0+0.9 = [65.7+0.7 < 58.3%1.4 =
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The upper part
. . . - of.the blades of The lower part of the | The upper part of the
The lower part of the blades of infected U. pinnatifida samples The upper intact part of the blades of infected U pitnatifida 1r.1fecte.d .U' blades of upninfected blade};zf uliinfected
rc samples pinnatifida U. pinnatifida samples| U. pinnatifida samples
samples with P P P P
endophyte
Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Jun. | Nov. S| Jun. S| Nov. S| Jun. S
14:1/14:0 + > - = + = + > - < + = - = - - = - < + < + > + - - = - = + = - =
14:0/14:0 |0.1£0.0 > + > + = + = + < 0.140.1 > + > + + = + = + < + =10.120.0 + 0.1£0.0 =10.120.1 = + =10.120.0 =
14:0/16:4 + = + = + = + > - = - < + = + + > + > = < + - + = + = + = - =
163/140 | + = + = + = + = 4+ = + =| + =+ + = + = + > - < + + | 4+ =+ =+ =| - =
14:0/16:2 |0.1£00 = + < 0.1£0.0 = 0.1£0.0 = 0.120.0 > + =[0.1200 = 0.120.0 = 0.1200 = + =01x00= + = + + 0.120.0 ={0.1£0.0 ={0.120.0 =|0.120.1 =
14:0/16:1 |0.1£0.0 > 0.120.0 = 0.1£0.0 > 0.1£0.0 = 0.120.1 = 0.1£0.1 =|0.120.1 = 0.1+0.0 = 0.120.0 = + = 0.120.0 = 0.120.0 =[0.12£0.1 0.120.1|0.2+0.0 =|0.120.0 =|0.1£0.0 = [0.1+0.0 =
14:0/16:1 + =  + < 01200 = 0100 = + = 0.1%0.1 = + = 0.120.0 + = + =+ =0.1+00 =|0.1£0.0 0.1x0.0| + =10.120.1 =]0.120.0 = [0.120.1 =
14:0/16:0 |0.1£0.0 > + = + + = + < 0.320.1 >|0.120.0 > + + >+ <+ < 0.240.1 > [0.120.0 0.1£0.1{0.240.0 ={0.4+0.1 =|0.120.0 =|0.2+0.0 =
14:1/18:4 + = + = + = + > + = + <10.1£0.0 = 0.1+0.0 + = + = + = + =10.1£0.0 0.1£0.0 + = + = + = + =
14:0/18:4  |0.3£0.0 > 0.2+0.0 = 0.2£0.0 > 0.2#0.0 = 0.2+0.0 = 0.1£0.1 =|0.520.1 = 0.4+0.1 = 0.4+0.0 > 0.2+0.0 = 0.2+0.0 < 0.5+0.1 >[0.9+£0.2 0.940.3|0.5£0.0 > |0.320.1 =|0.7+0.1 = [0.5+0.1 =
14:0/18:3  |2.9+0.2 > 1.320.3 = 1.320.1 > 1.0£0.2 < 1.440.1 = 1.6+0.3 >|3.0£0.4 > 1.940.1 1.740.0 > 0.8£0.0 < 1.240.1 < 1.740.0 > [2.120.2 1.7£0.1|3.120.1 ={1.9+0.0 =|2.320.3 =|1.8£0.0 =
14:0/18:2  |2.5£0.2 > 1.6204 = 1.6+£0.1 = 1.7#0.1 < 2.520.1 < 3.840.8 >|3.440.3 > 24404 = 2.0+0.1 = 1.840.3 < 2.5+0.3 < 3.320.6 >|1.9+0.2 2.240.1|3.120.5 =|4.5+0.8 25402 =|4.1£1.7 =
14:0/18:1 |0.7£0.1 > 0.4+0.1 = 0.3£0.1 = 0.440.2 = 0.4+0.1 < 0.840.2 >|0.620.1 > 0.3+0.1 = 0.2+0.1 < 0.320.0 = 0.320.1 = 0.4+0.2 =|0.4+£0.0 0.5+0.1|0.8+0.1 =|0.720.3 =|0.6£0.0 = [0.6+0.1 =
16:0/16:1 |0.2£0.0 > 0.120.0 = 0.1x0.0 > + < 0.120.0 = 0.2+0.1 >[0.2+0.0 > 0.120.0 = 0.120.1 = 0.120.0 = 0.120.0 = 0.120.1 =[0.120.0 0.1+0.0|{0.320.0 ={0.2+0.1 ={0.120.0 =|0.1£0.0 =
16:0/16:0 |0.1£0.0 = 0.1x0.1 = + > + < + < 0.120.0 >|0.120.0 >  + + = 4+ =+ < 0.1+0.0 = +  0.120.0|0.120.0 =|0.2+0.2 = + =10.1£0.0 =
15:1/18:4 + = + = + = + = + = + = + = + + = + = + = + = + + + = + = + = + =
17:3/16:1 |0.1£0.0 > + = + = + = + =+ =|0120.0=0.1200 = 0.1x00 = + = + < 0.120.0 >[0.240.1 0.2+0.1{0.1£0.0 = + =10.1£0.0 =]0.1£0.0 =
15:0/18:3 |0.1£0.0 = 0.120.0 = 0.1£0.0 = 0.1£0.0 = 0.120.0 = 0.1£0.0 ={0.240.0 = 0.1£0.0 = 0.120.0 = 0.120.1 = 0.1£0.0 = 0.120.1 ={0.1£0.0 0.240.1|0.1£0.0 =|0.120.0 =|0.2+0.1 = [0.2+0.0 =
15:0/18:2  |0.1£0.0 > 0.120.0 = 0.1£0.0 = 0.1£0.1 = 0.120.0 < 0.2#0.1 >|0.320.0 = 0.2+0.0 = 0.2+0.0 = 0.2+0.0 = 0.2+0.0 < 0.4+0.1 >[0.2+0.0 0.3+0.1|0.2+0.0 =|0.240.1 =|0.2+0.1 = [04+0.1 =
15:0/18:1 + = + = + = + = + = + = + = + + = + = + = 0.120.0 > + + + =0.1£0.1 = + = + =
150181 | + = + > + < + = + = + =| + =+ + = 4+ < + > - <l + 4+ | 4+ =+ =+ =| - =
16:3/18:3 + < 0.120.0 = 0.120.0 = 0.120.0 =+ > + <]0.1£0.0 < 0.120.0 = 0.120.0 > + = + > - = + + + = - = + = + =
14:0/20:5 |4.44£0.5 < 7.120.1 < 7.5#02 = 6.5%1.1 = 7.7x1.1 > 1.6£04 <|7.020.9 = 7.940.6 > 6.4+0.5 > 3.840.6 < 5.7+0.3 = 5.0+2.1 =|7.4+0.3 6.9+1.1|5.0+0.4 =|1.020.1 =|7.120.4 = |4.3+04 =
14:0/20:4  |1.2404 > 0.5+0.1 = 0.4+0.1 < 0.7£0.2 < 1.0£0.0 > 0.44£0.2 =|2.0£0.1 > 0.7+0.1 = 0.620.1 = 0.6£0.2 = 0.7+0.3 < 1.1£0.2 >[2.32£0.1 1.140.1|1.5£0.2 =|0.240.0 =|2.6+0.1 > [1.1+0.1 =
14:0/20:4  [6.9£1.2 > 3.5205 = 39402 = 4.2+1.0 < 57405 < 8.1£0.8 >[4.940.2 > 3.54£0.2 > 3.240.1 = 3.0+0.2 = 3.320.6 < 7.5+£1.0 >[4.3+£0.1 5.840.5|7.3+0.3 =|7.520.2 =|4.9403 = [6.8+2.0 =
14:0/20:3  |1.2£0.2 > 0.7+0.1 = 0.7£0.1 = 0.6£0.0 < 1.0+0.2 < 1.5£0.3 >|0.840.1 > 0.6+0.1 = 0.6+0.0 > 0.4+0.0 = 0.4+0.0 < 1.4+0.2 >[0.8+0.1 1.240.4|1.3+0.2 =|1.440.2 =|0.840.1 = [14+0.6 =
16:0/18:3 |8.6£0.2 > 4.0+0.9 = 4.3+02 < 4.7+0.3 < 54405 = 6.6£1.6 =|6.020.5 = 54403 < 6.120.5 = 5.6£0.6 = 5.3+0.2 > 4.1+0.6 <|[5.7+£0.5 4.340.1|8.1£0.2 =|7.440.2 =|5.620.5 = [4.5+0.3 =
18:0/16:3 |0.3£0.1 = 0.320.1 = 0.2+0.1 = 0.2+0.1 = 04402 = 0.3£0.2 =|0.240.1 = 0.320.2 = 0.4+0.0 = 0.320.1 = 0.320.0 = 0.240.1 =[0.2+0.1 0.240.0|0.620.3 =|0.4+0.2 =|0.320.1 = [04+0.0 =
16:0/18:2 |4.7£0.3 = 4.3+0.7 = 44403 = 4.5+%1.1 = 53404 < 9.0£0.8 >|6.8+0.5 > 54+0.7 < 6.5+0.3 < 8.3+1.0 = 8.8+1.3 = 8.842.0 =(5.6+0.8 6.4+1.3|4.7+0.5 =|10.6x1.5 = |5.8+0.3 = [9.7x1.5 =
16:0/18:1 |1.3£04 > 0.7£0.2 > 0.3£0.0 = 0.2#0.1 < 0.5+0.1 < 1.440.2 >|1.240.2 > 0.320.1 = 0.4+0.1 = 0.3+0.0 = 0.320.1 < 1.1+0.3 >|1.1£0.1 1.240.3|1.2+0.2 =|1.740.1 =|1.2+0.0 =[1.3x0.2 =
16:0/18:0 + = + > + = + = + < + > - < + + > - = - < + > + + - = + = + = + =
18:4/17:2 |0.1£0.0 < 0.120.0 = 0.1£0.0 = 0.1£0.0 = 0.120.0 > + <]0.1£0.0 = 0.1£0.0 > 0.1£0.0 > + < 0.120.0 = 0.120.1 =(0.120.0 0.1£0.0{0.1£0.0 = + =[0.120.0 = + =
15:0/20:5 |0.1£0.0 < 0.3+0.0 = 0.3£0.1 = 0.2#0.1 = 0.2+0.0 > 0.240.1 ={0.320.0 = 0.3+0.0 = 0.4+0.0 > 0.2+0.0 < 0.4+0.0 < 0.5+0.1 >[0.4+0.1 0.740.2|0.2+0.1 =|0.120.0 =|0.5£0.0 > [0.5+0.2 =
15:0/20:4 - = - = - < 0.120.0 > + > - < - = - - < 0.120.0 = 0.1£0.0 > - < - - - = - = - = - =
15:0/20:4  |0.3£0.0 > 0.2+0.0 = 0.2#0.0 = 0.1£0.1 = 0.2+0.0 < 0.4£0.2 >|0.440.1 > 0.2+0.0 = 0.3+0.0 > 0.2+0.0 = 0.2+0.1 < 0.6+0.1 >[0.5+£0.1 0.740.1|0.4+0.1 =|0.4£0.0 =|0.5£0.0 = [0.7+0.3 =
17:1/18:2  |{0.2£0.0 > 0.1+0.0 = 0.1£0.0 < 0.1£0.0 = 0.2+0.0 = 0.240.1 >|0.240.0 > 0.1+0.0 = 0.2+0.0 > 0.1+0.0 < 0.1+0.0 = 0.2+0.1 =[0.2+0.0 0.2+0.1|0.2+0.0 =|0.240.0 =|0.2+0.1 = [0.2+0.0 =
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0.2+0.0
16.4+1.6
0.8+0.2
6.7+0.7
1.840.2
0.7+0.7
0.1£0.1
+
0.120.0
0.5+0.0
5.0+0.4
6.5+0.6
0.440.1
2.940.3
0.2+0.0
0.240.1
+
0.240.1
1.620.1
0.1£0.0

= 0.940.8

vV V. V.V A A A A

v oAl

0.120.0
0.120.1
0.120.1
+
+
10.1£1.2
1.020.2
8.4x1.5
1.1£0.1
2.6+0.5
0.7x0.2
0.1x0.0
0.120.0
0.940.1
0.1x0.0

+
+
0.2+0.0
0.5+0.0
1.7£0.3
0.4+0.1
0.2+0.0
0.1£0.0
21.2+1.1
1.340.1
7.5+0.5
2.4+0.2
0.2+0.1
+
+
0.1£0.0
0.5+0.0
4.0+0.6
45404
0.5+0.0
2.1+0.2
0.2+0.0
0.1£0.0

0.1+0.0
0.9+0.1

0.3£0.0

= 0.1+0.0

+
+

10.3+0.4
0.840.1
7.9+0.7
1.1£0.1
2.5+0.2
0.7+0.0
0.1+0.0
0.1+0.0
0.7£0.1
0.1+0.0

v v v il

0.3£0.1
1.240.2
0.3+0.1
0.3£0.1
0.2+0.1

18.8+1.0 >

1.8+0.7
9.0+1.4
4.1+0.0
0.3+0.0
+
+

0.3+0.1
2.3+0.1
4.340.3
0.3+0.1
2.6+0.3
0.240.0
0.240.1
0.1+0.0
0.1+0.0
1.240.3
0.1+0.0
0.4+0.1
0.1+0.0
0.1+0.0

+

+

+
6.6+0.4
0.7+0.3
9.0+0.0
1.8£0.5
39404
1.6£0.3
0.1+0.1
0.1+0.1
0.9+0.2
0.3+0.0

+
+
0.1+0.0
0.3+£0.0
0.9+0.0
0.2+0.1
0.3£0.1
0.2+0.1

v V. V. A A

15.3+0.7 >

2.0+0.2
9.0+1.0
4.4+0.0
0.4+0.1

+

+

+

= 0.240.0

2.1£0.2
3.840.1
0.240.1
2.7+0.2
0.1+0.1
0.2+0.0

>
<
<
<
<
<

0.240.0

+

+
0.1£0.0
0.5£0.2
0.4£0.3
0.3£0.1
0.3£0.0
34415
0.7£0.2

<
<

15.4+1.3 >

6412
1.420.3
0.240.0

+

+
0.1£0.0
0.840.3
2.9:0.9

= 0.340.1

VAN AN

0.1£0.0 =

0.2+0.1
1.320.0
0.1+0.0
0.60.1
0.1+0.0
0.120.1

4.8+0.3
0.9+0.2
7.8+0.3
1.7£0.1
3.9+0.3
1.740.1
0.1+0.0
0.1+0.0
0.7£0.1
0.3+0.0

ANV VA

5.2+1.0
0.6+0.3
0.3£0.1
0.2+0.2
0.5+0.2
0.8+0.3

3.1+0.7
0.5+0.3
0.6+0.3
0.3+0.2

0.3+0.3
0.1+0.0
2.5+0.8
0.8+0.4
8.7+£1.2
3.0+0.6
0.3+0.0
0.3+0.1
0.3+0.1
1.0£0.2

S

>
>
>

VANV NVN

N v v v v Vv A

v V. A A A A

0.2+0.0 = 0.1+0.0
0.1+£0.0 > +

+ < 0.1£0.0
0.2+0.0 < 0.320.1
0.840.2 < 1.340.2
0.2+0.0 < 0.5+0.2
0.3£0.1 = 0.320.1

0.1£0.0 < 0.2+0.0

17

N v

12.1+1.4 < 18.5+£0.6 = 20.8+2.0 = 18.9+1.6 =

S

vl

> 0.120.0 = 0.1£0.0
= + =+
= 0.1£0.0 = 0.1£0.0
= 0.3x0.0 > 0.2+0.1
= 1.240.1 > 0.9+0.0
= 0.440.1 > 0.2+0.0
= 0.240.0 > 0.1x0.1
> 0.1£0.1 < 0.240.1
< 1.840.1 = 2.6+0.8
= 5.9+0.1 < 9.5+1.8 =
< 2.7+0.1 < 4.120.6
= 0.440.0 < 0.6x0.0
= + = +
= + < +
= + = 0.1+00
= 0.740.1 > 0.420.1
= 32402 > 2.0+04
= 49403 > 4.0+£0.3
= 0.320.0 = 0.320.1
> 1.940.3 < 3.0:04 =
= 0.2+0.1 = 0.4+0.1
= 0.2+0.0 = 0.2+0.0
= + = 0.120.1
= 0.1£0.0 = 0.1£0.0
= 1.5£02 = 1.2+0.2
= 0.1£0.0 = 0.120.1
= 0.4+£0.0 = 0.6x0.2
= 0.2+0.1 = 0.2+0.0
0.240.1 = 0.120.0 =
= 0.1£0.0 = 0.2+0.0
= + < +
= + < +
= 8.5+04 > 5.1+0.9
= 0.940.1 > 0.7%0.1
= 74405 < 8.5£04
= 1.240.1 < 1.7%£0.3
= 1.8404 < 3.7x09 =
= 0.840.2 < 1.4+0.2
= 0.2+0.1 = 0.2+0.0
= 0.120.1 = 0.1x0.0
= 1.120.1 = 1.0£0.1
= 0.240.0 < 0.40.1

3.3+0.1 > 1.440.1
7.1+0.1 > 59404
3.7+0.3 > 2.1+0.1
1.120.2 > 0.4+0.1
0.1£0.0 = +

+ >+

+ =+
0.3+0.0 < 0.6+0.2
1.7+£0.2 < 3.1+0.3
3.3+0.1 < 5.1+0.3
0.2+0.0 = 0.3+£0.0
3.340.5 = 2.840.2
0.3+0.2 = 0.2+0.0
0.240.1 = 0.2+0.0
0.2+0.1 = +
0.2+0.1 = 0.1x0.1
2.0+0.3 > 1.620.1
0.4+0.1 > 0.1+0.0
0.9+0.0 > 0.4+0.2
0.240.1 = 0.1+0.1
0.320.2 = 0.2+0.1 =
0.2+0.0 > 0.1+0.1

+ =+

- < +
3.3+0.3 < 8.1+0.2
0.8+0.3 = 0.9+0.1
7.0+£0.2 < 8.0+0.6
2.0+0.1 > 1.240.1
29404 > 2.240.3
1.120.2 > 0.8+0.1
0.1+£0.1 < 0.2+0.0
0.1£0.1 = 0.1x0.1
0.840.1 < 1.4+0.3
0.440.1 = 0.320.1

0.120.0
+
0200
1.0£0.0

0.2+0.1 =

0.4£0.1
0.2+0.1

A

v Vv

19.1+1.0 >

2.1+0.7
7.6+0.7
2.6+0.2
0.8+£0.2
+
+
0.1£0.0
0.3+0.0
1.940.2
4.240.2
0.3+0.0
3.4+0.3
0.2+0.0
0.2+0.0
0.1+0.0
0.1+0.0
1.4+£0.4
0.1+0.0
0.5+0.2
0.1£0.1
0.1£0.0
0.2+0.0

5.440.6
0.940.1
8.940.8
1.5+0.3
2.840.3
0.940.1
0.240.1
0.2+0.1
1.320.2
0.3+0.0

<
<
<

0.240.1
+
0.1+0.0

0.240.0 =

0.4+0.1
0.240.1
0.240.1

0.2+0.0 =

10.2+£2.6
2.3+0.3
12.2£1.9
3.1+0.3
1.8+£0.2
0.120.1
+
+
0.2+0.0
1.0£0.0
2.0£0.5
0.4+0.4
3.8+1.0
0.3+0.0
0.240.1

<

A A Al

0.1£0.0 =

0.2+0.1
1.8£0.5
0.3+0.0
1.8+0.2
0.240.1
0.3+0.2
0.60.1

1.240.6
0.540.1
5.3#0.5
1.240.2
6.3£1.6
1.3£0.2
0.2+0.0
0.4£0.1
0.8+0.2
0.9+0.3

v v ol

0.2+0.1 0.1+0.1
0.4+0.6 +
0.1+0.1 0.1+0.0
0.3+0.1 0.2+0.1
0.8+0.3 0.7£0.2
0.2+0.1 0.2+0.1
0.320.1 0.2+0.1
0.1+0.0 0.1£0.0
14.7+£2.114.5£1.9|
4.4+1.0 3.6x1.7
5.7+0.4 9.6+0.5
2.740.2 2.7+0.3
0.9+0.2 0.9+0.2
0.1+0.0 0.1+0.0

- +
0.1+0.0 +
0.9+0.2 0.7+0.4
2.6+0.5 2.4+0.5
3.0£0.4 2.6+0.3
0.320.1 0.320.1
2.540.2 2.3x04
0.3+0.1 0.3+0.1
0.1+0.0 0.1£0.0
0.1+0.1 0.1+0.0
0.2+0.1 0.240.0
1.9+0.3 1.7+£0.0
0.6£0.0 0.2+0.1
0.9+0.2 1.1+0.3
0.1+0.0 0.2+0.1
0.320.1 0.1£0.1
0.320.1 0.320.1

+ +

+
3.9+0.5
1.240.1
5.5+0.9
1.5+0.3
3.9+1.0
1.1+0.4
0.1£0.1
0.2+0.1
0.8+0.1

5.7+0.4
1.7£0.3
6.4+0.7
1.7£0.3
1.9+0.3
0.940.1
0.1+0.0
0.1+0.0
0.940.1

0.5+0.1 0.6+0.2

0.1+0.0

0.1+0.0
0.3+0.0
1.2+0.1
0.5+0.3
0.6+0.2
0.3+0.0

8.1+0.1 =

1.940.1
9.241.5
5.340.2
0.5+0.0
0.1+0.1

0.3+0.0
2.1£0.1
4.3+0.1
0.5+0.0
3.8+0.4
0.3+0.1
0.2+0.0

0.5+0.0
1.240.1
0.1+0.1
1.340.1
0.2+0.0
0.3+0.0
0.1+0.0

2.1£0.1 =

0.4+0.1
5.740.1
1.940.2
4.540.6
2.0+0.3
0.2+0.0
0.1+0.0
0.6+0.1
0.440.1

02+00 =
0.1+0.0 =

+

0.1£0.0 =
0.3+0.0 =
04402 =
0.3£00 =

0.2+0.1
2.1+:0.4

1.0+0.4 =
14.9+0.2 =
7.1£09 =

1.6£0.4
0.240.1
+

0.1£0.1
0.540.1

3.0£1.0 =

0.3£0.1

6.5+0.2 =

0.5+0.1
0.5+0.3

0.2+0.2 =
0.6+0.0 =
0.5+0.0 =

0.4+0.5

24406 =

0.60.1
0.5+0.2
0.4£0.1

0.2+0.1
0.1+0.1

14402 =
0.5+0.2 =

7.6£0.8

32404 =

0.2+0.1

0.2+0.2 =
02400 =

1.0£0.1

02400 =

+

0.1£0.0 =
02400 =
=10.4£0.1
0.2+0.0 =
02400 =

0.7+0.1

0.2+0.0
14.0+0.4
4.6%0.1
6.8+0.2
3.240.1

09402 =
0.1£0.0 =

+
+
0.6+0.1

2.240.1

0.1+0.1

0.3+0.1
1.940.1
0.4+0.1
0.9+0.1

42405 =
1.6£0.6 =
= [4.8+0.1

6.7+0.4
2.0+0.1

20402 =
1.0£0.0 =
0.1£0.0 =
0.1£0.0 =
1.1£02 =

0.5+0.1

0.2+0.1
+
+
0.2+0.0

0.1+0.1
0.2+0.0
0.1+0.0
8.0£3.4
1.9+1.4
12.5%0.1
3.240.3
2.1+0.2
0.1+0.0

+

=10.240.1
1.7¢02 =
29402 =
0.2£0.0 =
=|43+14
0.2+0.0 =
=10.120.0

1.0+£0.3
2.340.1
0.4+0.2
0.4+0.4

0.1+0.1

=10.2+0.1

1.7+0.5

={0.4+0.1
=(2.120.6
02402 =
03202 =
0.3+0.0 =

0.5+0.2
0.1+0.1
0.6+0.2

1.240.7
0.3+0.3

1.3+0.1
6.3£2.6
1.3+0.6
0.2+0.0
0.3£0.1
0.8+0.4
0.8+0.1

A 1 n
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22:1/18:2 + = 4+ = + = + = + < + = 4+ = + = 4+ = + =+ < + >01x01 + + =10.1x0.1 = + + =
20:5/22:2 - = - = - = - < + > - = + > - = - <+ =+ <+ > - + + = - = - - =
20:4/22:2 - = + = + = + > = - < + < + > + = + = + > < - - - = - = - - =
SFA/SFA [0.3+0.0 > 0.1+0.1 = 0.1#0.0 = 0.1+0.0 = 0.1£0.0 < 0.6£0.1 >|02+0.0 > 0.100 = + =+ = 0.120.0 < 0.3+0.1 >|0.2+0.0 0.240.1{0.3+0.0 =|0.7£0.4 =|0.2+0.0 0.4+0.0 =
SFA/MUFA (2.5£0.6 > 1.320.2 > 0.74#0.1 = 0.840.3 = 1.020.1 < 2.7#0.3 >|2.2+0.4 > 0.9£0.1 = 0.7£0.2 = 0.720.1 = 0.840.1 < 1.840.4 > [2.240.6 2.0+0.2|2.5+04 =|2.940.1 =[2.1+0.0 =[2.240.1 =
MUFA/SFA - = - = - = - = - = - = - = - = - = - = - = - = - - - = - = - - =
SFA/PUFA 63.7£1.1 > 54.5+2.7 < 60.1£0.6 < 62.4+1.1 < 65.7£1.2 < 67.7£0.8 > [68.4+0.8 > 62.1£1.4 = 64.2+1.7 = 65.2+0.7 = 65.6+1.0 < 71.7+1.1 > [66.4+1.869.0+2.9/65.3+0.1 = [69.0+3.1 = [69.5+1.1 = [71.3+3.5 =
PUFA/SFA | + = + = + > + = 4+ > + =| + = 4+ = + > + = 4+ > + =+  + | + =| + = + =
IMUFA/MUFA| - = - = - = - = - = - = - = - = - = - = - = - = - - - = - = - - =
MUFA/PUFA|0.840.0 > 0.3#0.1 = 0.3#0.1 = 0.3+0.1 = 0.320.2 < 0.840.2 > [0.6£0.2 = 0.4+0.0 = 0.5+0.1 = 0.5£0.1 > 0.3+£0.1 < 0.5+0.1 =|0.620.0 0.740.0|/0.6+0.1 =[0.9+0.2 =|0.5+0.0 =|0.7+0.3 =
PUFA/ MUFA|0.6+0.1 > 0.4+0.0 > 0.320.0 = 0.4+0.1 = 04+0.0 < 0.8+0.2 >|0.3+0.1 = 0.4£0.1 > 0.2+0.0 < 0.3+0.1 = 0.3+0.0 < 0.5£0.1 >[0.5£0.1 0.5+0.1|0.7#0.2 =[0.840.1 =|0.5+0.1 = |0.4+0.0 =
PUFA/PUFA [31.9£1.0 < 43.242.8 > 38.4+0.5 > 36.0+1.3 > 32.3%1.1 > 27.1£1.2 < 28.1£0.6 < 36.0+1.2 = 34.3£1.6 = 33.0+0.8 = 32.9+1.0 > 25.0+1.3 < [30.0+1.227.6+3.3[30.3+0.5 = 25.5+3.2 = (27.1+£1.2 = 24,9432 =
The upper part
. . . . of.the blades of The lower part of the | The upper part of the
The lower part of the blades of infected U. pinnatifida samples The upper intact part of the blades of infected U. pinnatifida m"f ecte'd'U. blades of u};infected bladelzif u};infected
PI samples pinnatifida U. pinnatifida samples|U. pinnatifida samples
samples with P P P P
endophyte

Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Jun. Nov. § Jun. § Nov. § Jun. §

14:0/18:4 0.1+0.2 = + = + = + = 0.1+0.2 = + = + = + = + = + = + = + = + + + = + =| + =| +
18:3/14:0 |0.3+0.4 = 0.6+0.7 = 0.6+0.8 = + = + = + = + = + = 02+04 = 0303 = + = 02#03 =|1.6x2.7 + 0.6+0.8 = + = 04+0.6 = 0.6+0.8 =
14:0/18:2 |0.8+0.5 = 3.7+4.0 = 1.3x1.3 = 0.120.2 = 0.3x0.5 = 1.7£19 =|2.2+1.3 = 04+0.8 = 0.3:0.3 = 0.2+0.2 = 0.2+0.3 = 1.7£2.2 =|0.1+0.2 1.0+1.0 + = 1.6+2.3 = 1.1+0.3 = 0.1x0.1 =5
14:0/18:1 |4.0£1.9 = 2940.7 = 1.9+14 = 13209 = 3.1+1.5 = 42428 =|3.643.5 = 0.2+0.3 < 3.9+1.0 = 3.3+3.3 = 3.7+2.0 = 2.0£3.2 =|4.4+04 53+3.2| 3.4+0.3 = 45104 = 2305 = 04+03 =
16:0/16:0 |1.5¢#1.3 = 0.4+0.6 = 0.3+0.3 = 0.3x0.2 = 0.1¢x0.2 = 0.840.8 =(0.3+0.5 = 04+0.6 = + = 1.3+1.8 = 0.3+0.6 = 0.2+0.3 =|0.620.5 0.7+1.2| 0.4+0.6 = + = 1.9+1.8 = 0.6+0.8 =
14:0/20:5 + = + = + =+ = + = + = + = + = + =0305= + =01£02 =] + 0102 + = + = + = 0.5+0.7 =
16:0/18:4 |0.2+0.4 = 02404 = 0.5+04 = 0.3x0.3 > + = 02+04 =[15+1.3 > + = 02403 = 0303 = + = 0404 =|0.320.2 0.3x0.5| 1.6+2.3 = 2.0+2.8 = + = 0.2+0.3 =
16:0/18:3 |2.9+2.8 = 4.9+2.3 = 6.1+1.6 > 2.0£1.0 = 24415 = 2.9+35 =|5.6+3.7 = 1.3+1.2 < 5.7+1.3 = 3.8+1.2 = 6.3+2.8 = 10.0£2.6 >[9.5+5.5 8.4+4.3| 6.0t04 = 7.1+10.1 5 5.7+1.5 = 13.6x6.6 =
16:0/18:2 |8.2+2.9 < 14.0£1.8 = 14.4+1.3 < 20.8+5.4 = 16.2+3.0 = 14.4+2.7 = |9.0+2.4 =18.9+18.4 = 15.4+4.9 = 23.0+4.9 = 26.7+2.7 = 28.0+4.5 =[10.7+3.817.8+4.5| 7.1+2.7 = 12.5+8.4 = 9.1+3.0 = 25.8+0.3 =
16:0/18:1 |66.7+3.1 > 60.4+2.2 = 63.8+3.2 = 65.0+4.5 = 64.7+10.1 = 63.5+8.3 = [61.6+6.7 = 73.1+13.4 = 60.6+0.8 = 54.2+5.6 = 48.8+3.6 > 42.6+3.8 <[59.4+3.147.1+6.2| 67.3£3.1 = 55.1+5.9 = 67.2+9.6 = 40.2+1.0 =
16:0/18:0 |8.4%1.5 = 9.3+3.0 = 9314 = 7.6x1.1 = 8.1+£2.2 = 9.1+3.7 =|8.7+0.3 = 13.0+5.8 = 7.9+2.2 = 7.5+3.0 = 7.1+2.6 = 7.1+5.0 =(8.7+2.3 10.7£5.6| 8.2+0.8 = 3.7+2.0 = 7.6x42 = 55+1.1 =
17:0/18:4 |0.6£1.0 = 0.5+0.9 = 0.3x04 = 0.3x0.3 = 04+03 = 0.3:04 =| + = + = 0.1+02 = 04407 = + = 05209 =| + 1.0£1.7 + = + = + = + =
17:0/18:3 |0.2+0.4 = 04406 = + = 0.6x0.7 = + = 0102 =| + = + = + =061.0 = 01202 = 0708 =| + + + = + = 0.3x0.4 = 0.3:0.5 =5
17:0/182 |02+04 = + = 02403 = 0.620.3 = 0.2¢0.3 = 0.1+0.2 <|0.2+04 = 0.1x0.1 = 0.1+0.2 = 0102 = + = 1.1£13 =| +  0.3x05 + = + + = 0.2+0.3 =
18:1/17:0 |0.6£0.4 = 0.8+1.1 = 1.4+1.7 = 1.320.6 > 0.3205 = 04+04 <| + = 02403 < 0.8£0.2 = 1.6x2.7 = 0.9+0.9 = 04+0.7 =|1.320.5 1.0+1.2| 0.7+1.0 5 2.0+2.8 = 0.7+1.0 = 0.3:0.4 =
16:0/20:5 |0.8+0.7 = 0.6+0.8 = 1.2+04 = 1.0+1.2 = 0.8#09 = 04404 =|0.1+0.3 = 0.3+0.5 = 15#19 = + < 12205 = 0.6+0.8 =[0.6+0.8 0.6£1.1| 0.8+1.1 = + = 0.8+0.2 1.3+1.8 =
16:0/20:4 |0.2+0.2 < 1.8+1.0 = 04404 = 0.520.6 = 1.7+0.7 = 0.6£0.5 =|04+04 = 0305 < 1.9+1.0 = 14204 = 1.940.6 = 0.9+09 =|0.5204 4.5+1.8| 0.8+1.1 = 7.1+2.5 = + = 1.1£1.5 =
20:3/16:0 |0.140.2 = 1.1+1.0 = 0.9+0.9 = 0.6+0.4 = 1.2+1.3 = 1.6+0.7 >|1.2404 > 0.120.1 < 1.7+1.0 = 1.3+1.0 = 1.0£09 > + <|0.7+0.3 1.1£1.5| 0.2+0.3 + = + 1.7+2.4
18:1/18:1 |2.3+1.0 = 1.0+09 = 0.740.5 = 0.7+0.7 < 2.5+0.7 = 1.9+1.6 =|0.6£1.0 = 0.3+0.5 = 0.5+0.5 = 1.00.6 = 0.8+1.4 = 0.2+0.4 =|1.0+1.4 0.3x0.5| 0.6+0.3 = 0.6+0.9 = 0.1+0.2 = 0.1+0.2 =
18:0/18:1 |1.942.3 = 1.4+1.5 = 22+0.8 = 14204 = 29+1.5 = 3.5+0.7 >|3.7#23 = 12+2.0 = 1.3:05 = 14203 = 1.3+1.5 = 0.3:0.3 <|0.7+1.1 0.1+0.2| 2.0+0.6 = 1.3+1.8 = 2.8+2.1 = 1.2+1.7 =
18:0/18:0 + = + =+ =11£12 = 0.8#0.3 = 0.8+1.0 =|1.2+2.0 = 1.8#19 = 0.1+0.1 = 1.2#1.3 = 0.6x05 = 0.7+1.3 =| + 19+1.0| 01202 5 0.6+0.9 = + = 0.5+0.1 =
SFA/SFA  [9.840.6 = 9.6£2.5 = 9.7+1.5 = 8.9+1.8 = 8.7+2.1 =10.7#35 =(10.1+2.5 = 15.2+4.1 > 8.0+2.1 = 9.74+5.8 = 8.1+3.2 = 8.0+5.0 =|9.2+2.8 13.3+4.3| 8.8+0.0 = 4.3+2.9 = 9.5+25 = 6.6x04 =
SFA/MUFA [72.6+1.2 > 64.7+0.5 = 67.9+3.3 = 67.6£5.0 = 70.7+8.9 =71.2+9.4 =|69.0+9.1 = 74.4+13.4 = 65.8+1.4 > 59.0+3.1 = 53.8+4.1 = 44.9+6.8 < |64.4+2.952.4+3.1| 72.7+3.4 = 60.8+8.0 = 72.3+8.1 = 41.8+2.3 =
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MUFA/SFA [0.6+0.4 = 0.8+1.1 = 1.4+1.7 = 1.3+0.6 = 0.3+05 = 04404 =| + = 02403 = 0.8+0.2 = 1.6+2.7 = 0.9+0.9 = 0.4+0.7 =|1.3+0.5 1.0£1.2| 0.7+1.0 = 2.0£2.8 =5 0.7+1.0 = 0.3x04 =
SFA/PUFA (14.241.6 < 26.2+2.4 = 23.9+2.0 = 26.2+4.6 = 22.2+6.1 =20.1+5.9 =(19.2+6.3 = 21.3+16.7 = 25.1+1.0 = 30.1£5.2 = 36.3+2.1 = 43.9+7.5 > [21.7+3.934.0+0.8| 20.1+0.0 = 30.4+4.7 = 16.9+5.1 = 43.1+1.6 =
PUFA/SFA |04%0.7 < 1.7+04 = 14+1.7 = 0.6£04 = 12413 = 1.6+0.7 >|1.2404 > 0.1+0.1 < 1.9+1.3 = 1.6+0.8 = 1.0£0.9 = 0.24+0.3 <[2.3+24 1.1+1.5| 0.8+1.1 = + = 0.4+0.6 5 2.3+3.2 =5
IMUFA/MUFA|2.3+1.0 = 1.0£0.9 = 0.740.5 = 0.7+0.7 < 2.5+0.7 = 1941.6 =|0.6£1.0 = 0.3+0.5 = 0.5+0.5 = 1.0£0.6 = 0.8+1.4 = 0.240.4 =|1.0£1.4 0.3x0.5| 0.6+0.3 = 0.620.9 = 0.1+0.2 = 0.1+0.2 =
MUFA/PUFA| - = - = - = - = - = - = - = - = - = - = - = - =| - - - < - - -
PUFA/MUFA| - = - = - = - = - = - =| - = - = . = - = . = - = - 0 4 - ) i
PUFA/PUFA| - = - = - = - = - = - = - = - = - = - = - = - = - - - < - - -
The upper part
of .the blades of The lower part of the(The upper part of the
The lower part of the blades of infected U. pinnatifida samples |The upper intact part of the blades of infected U. pinnatifida samples m.fecte.d‘ U blades of uninfected | blades of uninfected
PHEG P znnatzﬁdfz U. pinnatifida samples|U. pinnatifida samples
samples with
endophyte
Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Jun. Nov. S| Jun. S| Nov. S| Jun. S
20:5/20:5[0.4+0.1 < 2.6£09 = 2.0+04 > 1.3+02 > 0.8+0.2 > +  <|04+03 < 2.04£0.7 = 19402 > 1.0+04 > 0502 = 0.2+0.1 <|[1.6+03 2.8+1.0| 0.8£0.0 >/ 0.2+0.2 =| 0.7+0.1 =| 0.3x0.1 =
20:5/20:4(18.3x1.1 < 33.4%1.4 = 33.0£3.8 > 22.8+2.4 = 20.9£0.6 > 5.6+3.5 <|16.2£1.1 < 25.0+0.8 =24.7£1.7 > 14.3£1.5 < 19.4%1.3 > 79432 <|(23.0£3.1 18.6£0.2{ 19.5+0.8 =| 2.940.8 =| 18.6+£3.2 =| 7.842.3 =
20:4/20:4(80.8+£0.9 > 63.4+2.2 = 64.444.3 < 74.9£2.2 < 77.6£0.8 <93.9£3.5>[83.0£1.0 > 72.3x1.5 =73.0£1.9 < 83.9£1.7 > 79.6x1.5 < 91.3£2.8 >|75.0£2.9 78.4%1.1{79.2+0.9 =(96.0x1.3 =| 80.4£3.3 =|91.5£2.4 =
20:4/20:3|0.5+0.2 = 0.6#0.2 = 0.640.1 = 0.9+0.3 = 0.740.1 = 0.5+0.2 <[04£0.1 < 0.7+0.0 > 0.4+0.1 < 0.8+0.0 > 0.5+02 = 09404 =|0.3+0.0 0.2+0.1 | 0.5+0.1 =/ 0.9+0.3 =| 0.3+0.1 =| 0.4+0.1 =
20:4/20:2 - = - = + > - < + > - = + > - < + > - < + = 0.1£0.0 - - + = - = + = 0.1£0.0 =
The upper part of the The lower part of
. . o The upper intact part of the blades of infected UL blade}sj}(j)f irFl,fected u. The upper pa.rt of the the bladg’s of
TAG The lower part of the blades of infected U. pinnatifida samples pinnatifida samples pinnatifida samples blac.les of }mmfected infected 1.
. U. pinnatifida samples| . e
with endophyte innatifida samples
Nov. Dec. Jan. Feb. Apr. Jun. T |Nov. Dec. Jan. Feb. Apr.  Jun. T Nov. Jun. Nov. Jun. S| Nov. S| Jun. S
46:2 0.2+#0.0 = 0.240.1 = 0.1x0.1 = + = + < 0.1£0.1 =10.3£04=0.340.1 >0.1£0.0> + > + <02+0.1 > 0.2£0.0  0.1£0.1| 0.2+0.0 + =10.4£0.1 =(0.120.1 =
47:1 13209 = 09402 > 0.3x0.1 > 0.1+00 = 0.120.0 < 0.9£0.5 > [0.940.2=1.2+0.3 >0.3+0.0> 0.1+0.0 =0.120.0<0.8+0.3 > 0.7#0.1  0.8+0.4| 1.2#0.0 { 0.5+0.1 =0.5+0.0 ={0.4+0.0 =
472 0.8#0.5 = 0.5#0.0 > 0.10.1 > + < 01200 < 0.5#0.1 > [0.6£0.3=0.620.2 >0.10.0> +  <0.1x0.0<0.5£0.2 > 0.5+0.2  0.4+0.1| 0.8#0.0 { 0.3+0.1 =0.3+0.0 ={0.2+0.1 =
49:2 1.8£1.0 = 1.2#0.1 > 0.520.0 > 02£00 = 0.220.0 < 1.120.1 > [1.2#0.3<1.620.2 >0.5£0.1> 0.1£0.0 =0.1£0.0<1.3x0.4 > 1.0£0.5 1.0£0.4| 1.5£0.3 § 1.120.1 =]0.620.0 <|0.9£0.0 =
49:3 02+0.1 = 02+0.0 > 0.1x0.0 > + = + < 0.240.1 > |0.1£0.0=0.1£0.1 >0.1£0.0> + = + <02+0.1 > 0.1£0.1 0.2£0.1| 0.220.0 § 0.2#0.2 =10.120.0 <|0.2+0.1 =
49:3 04402 = 03+0.0 > 0.1x0.0 > + = 4 < 04402 > [0.3+0.1=04+0.1 >0.1+0.0> + = + <04#0.1 > 0.2#0.1  0.240.1| 0.3+0.1 §0.320.1 =0.2+0.0 =(0.3+0.1 =
49:4 0.2#0.1 = 0.120.1 = 0.1200 > + = + < 03#£0.1 > |0.240.0> 0.1£0.0 >0.1£0.0> + = + <0.2+0.1 > 0.120.0  0.1£0.1| 0.2£0.1 § 0.2#0.0 =10.120.0 =0.240.1 =
55:0 03402 = 02+0.0 > 0.1x0.1 = + = + < 0.240.1 > |0.240.1=0.240.0 >0.1£0.0= + = + <0302 > 0.2£0.1 0.2£0.1| 0.2£0.0 § 0.2£0.0 =10.120.0 =0.120.1 =
55:9 0.1#0.1 = 0.1+00 = 0.1+0.0 = 0.1+00 >  + < 0.1+0.1 =0.120.0= 0.1+0.0 =0.1+0.0> 0.1+0.0 =0.1+0.0=0.1+0.1 = 0.1+0.1 + + 0.5+0.4 =0.1+0.0 =(0.240.1 =
59:1 0.2#0.1 = 0.1x0.0 > 0.1x0.0 > + = o+ < 0240.1 >(0.240.1=0.1£0.0 >0.1£0.0=  + > + <0.2%0.1 > 0.1£0.0  0.1x0.1] 0.120.0 1 0.2¢0.1 =| + =[0.120.0=
14:0/10:0/18:1 (0.4+0.2 = 0.3%£0.1 > 0.1x0.0 > + = + < 07404 > |0.3£0.0<0.44£0.1 >0.1£0.0> + = + <0503 > 0.3£0.1 0.3£0.2| 0.320.0 § 0.5£0.0 =10.2+0.0 <|0.4+0.0 =
12:0/14:0/14:0 + = + > - < + = + <01x00 >| + = + = + = + = + <0201 > + + + 01200 =| + =[0.120.1=
14:0/12:0/16:0 (0.240.1 = 0.2+0.0 > 0.1x0.1 > + = + < 03402 > (0.24#0.1=0.340.1 >0.1£0.0> + < + <03x0.1 > 02402  0.2#0.1| 0.240.0 § 0.3#0.1 =10.120.0 =/0.3+0.0 =
12:0/12:0/16:0 (0.2£0.1 = 0.2#0.0 > 0.1x0.0 > + = + < 03#£0.1 > |0.240.1=0.3£0.1 >0.1£0.0> + = + <04x0.1 > 0.2£0.1 0.3£0.2| 0.1£0.0 § 0.4£0.0 =10.120.0 =(0.3x0.3 =
12:0/16:1/16:0 (0.3x0.1 = 0.3x0.1 > 0.1x0.0 > + = + < 0.240.1 > |0.3£0.1=0.440.0 >0.1£0.0> + > + <03x0.1 > 0.2£0.1 0.2£0.1| 0.4£0.0 § 0.1£0.0 =1]0.4+0.0 =0.120.0 =
14:0/15:0/14:0 |0.240.1 = 0.2+#0.0 > 0.1x0.0 > + > + < 0240.1 > |0.1£0.0=0.240.0 >0.1£0.0> + = + <0.2+0.0 > 0.1£0.1 0.1£0.1| 0.240.0 § 0.2+0.0 =10.120.0 <|0.2+0.1 =
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0.440.1=0.5+0.1 >0.1£0.0> + = + <0402
0.5+0.1> 0.4+0.0 >0.2+0.1> 0.1+0.0 <0.1+0.0<0.440.1
0.440.1=0.5+0.2 >0.1£0.0> + = + <0.4+0.1
0.340.1=0.5+0.1 >0.1£0.0> + = + <0.3%0.1

0.7+0.2= 0.9+0.3 >0.2+0.0> 0.1+0.0 =0.1+0.0<0.9+0.2
2.0+0.4=1.7+0.2 >1.3+0.2< 1.7+0.2 > 1.3+0.2<3.0+0.8
1.0£0.1> 0.8+0.1 >0.5+0.0= 0.4+0.1 =0.4+0.1<0.620.1

0.7£0.2=1.0£0.2 >0.2£0.1> + = + <0.7£04
0.5£0.1=0.7£0.1 >0.1£0.0> + = + <04+0.2
0.5+0.1<0.7+£0.1 >0.2+0.1> 0.1£0.0 > + <0.5+0.3

0.4+0.2= 0.5+0.1 =0.4+0.2= 0.2+0.0 > 0.1+0.0<0.6+0.2

0.140.0=0.1+£0.0 =0.1£0.0> + = + =0.2+0.1
0.140.0=0.1+£0.0 >0.1£0.0> + = + =0.1%x0.2
0.6+0.2> 0.3+0.1 >0.1£0.0> + = + <0.240.0

0.6+0.1=0.6+0.1 >0.4+0.1< 0.6+0.0 > 0.4+0.1=0.620.3
0.1+0.0=0.10.0> + = + = + <0.120.1
0.120.0=0.1200= + > + + <0.120.0
0.8+£0.2=0.7£0.1 =0.8+£0.2< 1.4£0.1 =1.3£0.2>0.6+0.3
1.240.3=0.9+0.2 =1.2+0.2< 1.6+0.1 <2.0+0.2>0.7+0.2
0.9+0.2= 0.8+£0.2 =1.0+0.1= 1.0£0.0 <1.32£0.1>0.6+0.2
0.6+0.1> 0.5+0.1 =0.5+0.1> 0.2+0.0 <0.3+0.0=0.240.1

0.2+0.1=0.2£0.1 <0.4£0.0= 0.3£0.0 <0.5£0.1>0.2+0.2

0.5+0.3= 0.3+0.1 =0.4+0.0= 0.4+0.0 =0.3+0.0=0.320.1
0.4£0.1=0.4£0.1 =0.4£0.1= 0.4£0.0 > 0.4£0.0=0.3+0.1
0.5+0.1=0.5+0.1 =0.4+0.0> 0.3+0.0 <0.3+0.0=0.3£0.2
0.1+0.1=0.1+0.0 =0.1+0.0= 0.1+0.0 =0.1+0.0<0.3£0.1

0.6+0.1=0.8+0.1 <1.1+0.1< 1.3+0.1 >1.0+0.1=1.2+0.4

0.2+0.1< 0.5£0.0 <0.8+0.2> 0.3+£0.1 =0.3£0.0<0.6+0.3
0.120.1> +  =0.120.0= 0.120.0 =0.1+0.0<0.2+0.0
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0.1+0.0

0.7+0.0
2.340.1

Al

ANV VANl A AN AN A A

A v I

A

VaSAN

v oVl A A Il

1.7£0.5

0.3+0.1
0.2+0.0
0.3+0.1
1.340.1
2.440.2
1.440.5
0.7+0.1
0.1+0.0
0.6+0.3
4.0+0.8
0.2+0.0
0.1+0.0
0.6+0.1
2.6+0.6

0.1+0.0
0.3+0.1
0.3+0.1

0.3+0.1
1.6+0.4
0.1+0.1
0.2+0.0
0.2+0.0

0.2+0.0

0.9+0.2
2.840.6
3.440.3
1.1£0.4
0.1+0.0
0.5+0.1
0.4+0.1
2.740.6

0.1+0.0
0.1+0.1
0.2+0.1
0.1+0.0

0.4+0.2
0.9+0.1

ANV VvV IV Al v vV Vvdl

v

A

1.6£0.1

0.3+0.1
0.3+0.0
0.3+0.0
1.0£0.0
1.72£0.0
0.3£0.1
0.740.1
0.1+0.0
0.2+0.0
4.4+0.2
0.1+0.0
0.1+0.0
0.940.1
2.740.1

0.2+0.0
0.4+0.0
0.4+0.0

0.4+0.0
0.9+0.0
0.1+0.0
0.3+0.0
0.2+0.0

0.2+0.0

0.7+0.0
2.4+0.1
2.0+0.1
0.9+0.1
0.2+0.0
0.4+0.0
0.3+0.0
1.6£0.1

0.2+0.0
0.1+0.0
0.2+0.0
0.1+0.0

0.2+0.0
0.7+0.1

0.7+0.3

0.3+0.1
0.3+0.1
0.8+0.4
0.6+0.3
1.1+0.1
0.4+0.2

= 0.5+0.2

0.2+0.0
0.3+0.1
3.1+1.0
0.1+0.1
0.1+0.0
0.9+0.3
1.5+0.4

0.3+0.1
0.3+0.0
0.3+0.0

0.4+0.0
0.6+0.2
0.1+0.1
0.2+0.1
0.1+0.0

0.3+0.1

0.7+0.3
1.140.2
1.0£0.4
1.240.3
0.2+0.1
0.2+0.1
0.3+0.1
1.3+0.0

0.1+0.1

0.2+0.1
0.1+0.1
0.5+0.1
0.1+0.0

0.3+0.1
0.3+0.2
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1.6£0.6=1.140.3 =1.4+0.5= 1.5£0.2 =1.5£0.1>0.8+0.4

0.3+0.2= 0.3+£0.1 <0.5+£0.1= 0.8+£0.3 >0.5+0.1>0.1+0.0
0.2+0.0> 0.1+0.0 =0.1+0.0< 0.2+0.0 > 0.2+0.0=0.2+0.0
0.2+0.0= 0.2+0.0 =0.2+0.0< 0.5£0.1 =0.5£0.1=1.0£0.5
0.3+0.1= 0.4+0.1 <0.8+0.3< 1.2+0.1 > 0.9+0.1>0.3+0.0
0.6+0.2< 1.0+£0.2 <1.6£0.4< 2.5+0.2 =2.240.1>0.7+0.2
0.5+0.2=0.5+0.2 <1.2+0.3= 1.3+0.5 > 0.5+0.2>0.120.1
0.5+0.1=0.5+0.1 <0.7£0.1< 1.0£0.1 >0.7£0.1>0.4+0.1
0.120.0=0.120.0 =0.1£0.0< 0.120.0 =0.1£0.0=0.120.1
0.240.1=0.320.1 <0.5+0.1= 0.6+0.1 =0.6+0.2>0.3£0.0
2.440.3=2.2+0.2 <2.8+0.2< 3.8+0.2 =3.2+0.5>1.940.6

={0.120.0< 0.240.0 =0.240.1> 0.240.0 =0.2+0.0>0.1+0.1

0.140.0=0.1+£0.0 =0.240.1> 0.1+0.0 <0.2+0.0>0.1+0.1
0.840.1> 0.5+0.1 =0.5+0.1< 0.7+0.1 =0.7+0.2=0.620.0

< 2.0£0.4> 1.5+0.2 <2.1+0.4=2.1+0.1 =1.7+0.3=1.5+0.3

0.3+0.0> 0.2+0.0 >0.1£0.0< 0.2+0.0 =0.2+0.0=0.2+0.1
0.1+0.0= 0.1£0.0 =0.2+0.0< 0.2+0.0 =0.2+0.0=0.2+0.1
0.3+0.0> 0.2+0.0 =0.2+0.0= 0.2+0.0 <0.3+0.0>0.2+0.0

0.4+0.1> 0.2+0.0 <0.3%0.1= 0.3%0.1 <0.5+0.1>0.3+0.1
1.0+0.1> 0.840.1 <1.320.1= 1.3+0.1 =1.4+0.1>0.6+0.2
0.3+0.0= 0.3+0.1 =0.3+0.0> 0.1+0.0 =0.1+0.1=0.2+0.0
0.2+0.1> 0.120.0 <0.2+0.0= 0.2+0.0 <0.2+0.0>0.1+0.0
0.240.0> 0.120.0 <0.2+0.0= 0.2+0.1 =0.2+0.0>0.1+0.0

0.1+0.0=0.1£0.0 =0.1£0.0< 0.2+0.0 =0.2+0.0=0.2+0.1

0.440.0= 0.4+0.1 <0.7+0.0< 1.2+0.2 =1.4+0.3=1.2+0.7
0.6+0.1< 1.240.2 <1.940.4< 2.8+0.6 <3.8+0.4>1.0+0.4
1.3+0.3<2.240.4 <3.5+0.1> 3.1+£0.3 =3.9+0.7>1.3+0.4
1.3£0.2=1.440.4 =1.740.1< 2.020.2 =2.120.4>1.540.3
0.1+£0.0> 0.1+0.0 =0.1+0.0< 0.1+0.0 <0.2+0.0=0.1£0.0
0.2+0.1=0.240.1 <0.3£0.1< 0.5+0.1 =0.5+0.1>0.2+0.1
0.320.1=0.2+0.0 <0.4+0.0= 0.4+0.1 =0.6+0.2>0.2+0.0

0.940.2< 1.4+0.3 <2.4+0.1< 2.740.1 =3.4+0.9>1.9+0.8
0.1£0.0=0.1200= + > + < + =02402

0.3+0.0> 0.1£0.0 =0.1+0.0> 0.1+0.0 =0.1+0.0<0.2+0.0
0.3+0.0= 0.3+0.1 =0.3+0.0> 0.1+0.0 =0.1+0.1=0.2+0.0
0.6+0.1=0.7£0.1 =0.8+0.1> 0.5+0.1 =0.4+0.1=0.5+0.1
0.1+0.0=0.1£0.0 =0.1£0.0> 0.1£0.0 <0.2+0.0=0.1+0.1

0.4+0.1< 0.6£0.1 =0.7£0.1> 0.5+0.1 =0.6+0.1>0.4+0.1
0.9+0.2< 1.320.2 <1.9+0.2> 0.6+0.2 <1.0+0.2>0.5+0.1

N A AN A AN LA A

VaSVANVAN

v Al

AN AN A A A

Vv Vv

1.3£0.2

0.2+0.1
0.1+0.0
0.1+0.0
0.4+0.0
0.4+0.0
0.3+0.0
0.440.1

0.2+0.0
3.4+0.4

0.7+0.0
2.5+0.3

0.2+0.0
0.2+0.0
0.1+0.1

0.3+0.0
0.7£0.1
0.1+0.0
0.1+0.0
0.1+0.0

0.1+0.0

0.2+0.0
0.3+x0.0
0.5+0.1
0.6+0.1
0.1+0.0
0.2+0.0
0.1+0.0
0.5+0.0

0.1+0.0
0.1+0.0
0.3+0.0
0.1+0.0

0.2+0.1
0.4+0.1

0.7+0.2

0.1£0.1
0.2+£0.0
0.4+0.3
0.5£0.1
0.5+£0.2
0.3£0.0
0.4+0.1
0.1£0.0
0.2+£0.0
2.4+0.2

+

+
0.9+0.1
1.4+0.1

0.2+0.1
0.2+0.0
0.2+0.0

0.2+0.0

0.3+0.0
+

0.1+0.0
+

0.1+0.1

0.5+0.4
0.4+0.3
0.6+0.4
0.7+0.4
0.1+0.0
0.1+0.1
0.1+0.1
1.0+0.7

0.1+0.0

0.1+0.0
+
0.3+0.1
0.1+0.0
0.2+0.1

0.3+0.2

1.440.1

0.3+0.1
0.2+0.0
0.1+0.0
0.4+0.0
0.6+0.1
0.5+0.1
0.6+0.1
0.1+0.0
0.1+0.0
2.740.1
0.1+0.1
0.1+0.0
0.8+0.1
22404

0.3+0.1
0.2+0.0
0.2+0.1

0.3+0.0
1.0£0.1
0.2+0.0
0.2+0.0
0.3+0.0

0.1+0.0

0.2+0.1
0.6+0.0
1.240.1
0.9+0.1
0.1+0.0
0.2+0.0
0.3+0.0
1.1+0.1

0.1+0.0

0.3+0.0
0.2+0.0
0.5+0.1

0.3+0.0
0.7+0.0

0.7+0.0

0.3+0.0
0.2+0.0
1.1+0.4
0.5£0.1
0.9+0.3
0.4+0.1
0.7+0.2
0.3+0.0
0.1+0.0
2.7+0.4
0.1+0.0
0.1+0.0
0.8+0.0
1.3+0.1

0.6+0.2
0.3+0.0
0.3+0.1

0.3£0.1
0.6+0.1
0.2+0.0
0.240.1
0.2+0.1

0.2+0.0

1.1+0.2
0.9+0.3
0.6+0.1
1.3£0.1
0.2+0.1
0.3+0.0
0.240.1
1.240.1

0.3+0.0

0.1+0.0
0.2+0.0
0.4+0.1
0.2+0.2

0.5+0.1
0.3+0.1

0.9+0.1 =

0.2+0.1 =
0.1+0.0 =
0.2+0.0 =

=10.3+0.0 =

0.4+0.1 =
0.6+0.0 =
0.5+0.0

+ =
0.2+0.0 =
2.740.1 =
0.1+0.0 =
0.1+0.0 =
0.6+0.0 =
1.6+0.1 =

0.1+0.0 <
0.2+0.0 =
0.1+0.0 <
0.5+0.0 =

=10.8+0.1 =

0.240.1 =
0.1£0.0 =
0.240.1 =

0.1+0.0 <

0.3+0.0 =
0.5+0.0 <

=(1.1+0.1 =
=(1.2+0.0 =

0.1+£0.0 <
0.2+0.0 =

=(0.3+0.0 =

1.1£0.0 =
+ =

0.2+0.0 <
0.2+0.1 =

=(0.5+£0.0 =

0.2+0.0 =
0.5+0.0 =
0.9+0.0 =

0.3+£0.0 =

0.2+0.0 =
0.2+0.0 =
1.020.4 =
0.440.1 =
0.8+0.0 =
0.320.1 =
0.6+0.3 =
0.240.2 =
0.3+0.1 =
2.0+0.4 =
0.1£0.1 =
0.1+0.0 =
0.8+0.0 >
1.320.1 =

0.2+0.1 =
0.2+0.1 =
0.2+0.0 =

0.3+0.0 =
0.6+0.2 =
0.1£0.1 =
0.1+0.0 =
0.1+0.0 =

0.2+0.1 =

1.320.2 =
0.9+0.0 =
1.40.5 =
1.620.7 =
0.240.1 =
0.240.1 =
0.240.1 =
1.8+0.4 =

0.1+0.1 =

0.240.1 =
0.1£0.1 =
0.4+0.3 =
0.1£0.1 =

0.5+0.1 =
0.6+0.0 =
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18:4/18:3/20:5 (0.940.6 = 1.7404 < 3.1x02 > 1.6205 = 1.5+0.1 > 1.2+0.2 = [2.64+0.4=3.3+0.5 =3.740.4> 2.5:0.4 =2.840.5>1.7404 < 1.3£0.2 1.1£0.6| 1.5£0.0 § 1.2+04 =[2.740.0 ={1.9£0.4 =
18:3/20:5/20:4 |0.1+0.0 < 0.1+0.0 = 0.120.0 > 0.120.0 = 0.1£0.0 = 0.1£0.0 = [0.240.1=0.1+0.1 =0.1+0.0= 0.2+0.0 =0.1+0.1=0.2+0.1 = 0.120.0  0.1£0.0| 0.1£0.0 { 0.1£0.1 =10.2+0.0 =0.2+0.1 =
1?;/32/(2)(?82/(2)3; 0.120.1 = 0.120.0 = 0.120.0 = 0.120.0 < 0.1£0.0 < 0.3£0.1 > [0.2+0.1> 0.1+0.0 =0.1+0.0= 0.1+0.0 =0.1+0.0<0.3£0.1 > 0.120.0  0.2#0.0| 0.1£0.0 { 0.5+0.1 =10.1+0.0 =/0.4+0.0 =
18:4/20:0/20:5 |0.1+0.1 = 0.1+0.0 = 0.120.0 = 0.120.0 < 0.240.0 = 0.2+0.1 > |0.3£0.0> 0.1+0.0 =0.1+0.0= 0.2+0.0 <0.2+0.0=0.3£0.1 > 0.1£0.0  0.2#0.0| 0.240.0 { 0.2+0.0 =10.3x0.0 =/0.3x0.0 =
18:4/20:4/20:5 |0.3+0.2 = 02400 = 02+0.0 = 0.120.1 = 02+0.0 = 0.2+0.1 = [0.6£0.1>0.240.1 =0.240.1=0.240.1 =0.240.1<0.4+£0.1 > 0.3£0.0  0.3+0.1| 0.4+0.1 § 0.3+0.1 =|0.7+0.0 =(0.5+0.2 =
20:4/18:4/20:5 |0.9404 < 2.4+0.1 < 3.3+0.1 > 23406 = 1.6£0.2 > 1.1203 < [1.6+0.3<2.5+0.4 <3.240.2> 2.740.1 <3.5£0.6>2.2+0.7 = 0.7+0.2 1.320.9| 1.24#0.1 § 1.0+0.2 =[1.940.1 =|1.74£0.1 =
20:5/18:4/20:5 |{0.940.6 < 2.6+0.4 < 52402 > 3514 = 23+02 > 07402 < 2.3+£0.6<4.9+1.3 =6.3+0.7> 4.6+0.6 =5.140.6>1.5£04 < 1.5+0.4 14409 1.4+0.1 § 0.5+0.1 =|3.5£0.5=(1.3£03 =
20:4/20:3/20:4 + = + = 0.1+00 > + < + < 0.240.1 > + = + = + = + < + <01x01 > + 0.1+0.0 + 0.3+0.1 + =02+00=
20:4/20:3/20:5 |0.1£0.0 = 0.1#0.1 = 0.1+0.0 = 0.1200 = 0.1+0.0 < 0240.1 = [0.1x0.0= + <0.1£0.0< 0.1£0.0 =0.24+0.0=0.3x0.1 > 0.1+0.0  0.1%0.1 + 0.240.0 =10.120.0 =/0.2+0.0 =
20:4/20:4/20:4 |0.1£0.0 < 0.3+0.1 = 0.2+0.1 > 0.1200 < 0.1+0.0 < 0.940.7 > [0.1x0.0=0.240.1 =0.240.1> 0.1£0.0 =0.1£0.0<1.3x0.7 > 0.1£0.1 0.3£0.2| 0.1£0.0 § 1.1£0.5 =10.120.0 =|1.2+0.4 =
20:4/20:5/20:4 |0.1£0.0 < 0.5+0.1 = 0.6202 = 03+0.1 = 03#0.0 = 04402 = [0.2+0.0< 0.4+0.2 =0.5+0.0= 0.6+0.1 =0.7+0.2=1.1£0.5 = 0.1£0.0  0.5+£0.3| 0.1£0.0 { 0.5+0.1 =1|0.2+0.0 =|1.1+0.3 =
20:4/20:4/20:5 + < 0100 = 0.1#0.0 = 0.1x0.1 = 0.1£0.0 = + = [0.1£0.0=0.140.0 <0.1+0.0< 0.240.0 =0.3+0.1=0.1£0.0 < 0.1+0.0  0.1%0.1 + 0.24#0.1 =10.120.0 =(0.10.0 =
20:5/20:4/20:5 + = + = + = + = + < + =10.1£0.0= + =0.120.0=0.120.0 =0.1+0.1>0.1£0.0 = 0.1£0.0  0.1+0.0 + 0.1+0.0 =10.120.0 =0.10.0 =
18:0/20:5/20:5 |0.1+0.0 = + = + = + < + < 0.1£0.1 > + = + = + = + < + =01x01 = 0.1£0.0  0.1£0.0| 0.1+0.1 {0.240.2 =10.1+0.0 =/0.1+0.0 =
20:4/20:5/20:5 |0.1£0.0 < 0.5+0.1 = 0.720.1 > 04402 = 03+£0.0 > 0.240.1 = [0.2+0.1=0.3+0.1 <0.6+0.0< 0.7+0.0 =1.0+0.3>0.5£0.2 < 02+0.0  0.4+£0.2| 0.1£0.0 { 0.240.1 =10.3x0.1 =/0.5+0.2 =
20:5/20:5/20:5 |0.140.0 < 0.2+#0.0 < 0.3+0.0 > 0.120.1 = 0.1+0.0 = 0.3+0.2 = [0.1+0.0< 0.240.1 =0.3£0.0> 0.2+0.1 =0.3£0.1=0.2+0.0 = 0.1+0.0  0.240.1| 0.1+0.0 § 0.240.0 =]0.2+0.0 =(0.2+0.1 =

Table S4. The plastid-derived lipid molecular species of MGDG, DGDG, SQDG, PG, PE, PC, PI and TAG of various parts of the blades of Undaria pinnatifida samples
uninfected and infected with the endophyte Laminariocolax aecidioides collected in different months. Values given as % of total molecular species (mean + s.d. for
triplicate). “+” — amount less than 0.1%, “-” — not detected. Between columns result of Tukey test and Students t-test (p<0.05, n=3) are shown (“>”, “<” — statistically

—no significant changes). “T” — difference between «June» and «February», «5» — difference between uninfected and infected samples.

“u 1y

significant difference,

The lower part
. . . ..., | of the blades of | The lower part of the The upper part of the
. The lower part of the blades of infected U. pinnatifida samples The upper intact part of the blades of infected U pinnatifida uninfected U. | blades of unFi,nfected u. bladesrc,)rf, un}ijnfected u.
Lipid samples . . . e . e
pinnatifida pinnatifida samples pinnatifida samples
samples
Nov. Dec. Jan. Feb. Apr. Jun. T | Nov. Dec. Jan. Feb. Apr. Jun. T| Nov. Jun. Nov. S Jun. S Nov. S Jun. §
IMGDG|0.840.1 = 09402 = 0.840.3 = 1.0£02 = 0.8#0.2 < 13202 =[1.240.6 < 2.440.8> 0.840.1 < 1.3+0.3 > 0.8+0.0 = 1.1£0.3 =[2.6+1.1 1.9+03| 12400 > 1304 = 3.740.1 > 1.0£0.0 5
DGDGJ1.1£04 > 04402 = 0.8+03 = 1.2+0.2 > 0.720.2 < 2240.8 > |1.740.8 = 1.0+£0.3 = 1.0+0.1 = 1.9%1.5 = 1.340.3 = 3.1£1.9 =| 22414 3.2+1.7| 1.120.0 =2.3+0.1 = 2.240.1 = 1.7+0.5 5
SQDG(80.3+2.0 = 78.8+3.4 = 82.6+1.0 = 82.8+1.2 < 86.0x1.1 > 80.9+2.0 = [78.0£1.9> 74.1+2.1=77.1£1.9< 83.1+1.8 =83.0£1.2> 77.1£2.7<|79.2+2.0 79.3+1.7| 81.0x1.6 =82.1+5.0 = 76.9+0.2  =74.0+0.35
PG [39.7£2.7 = 42.5+£2.9 < 47.9+2.8 = 48.0+4.3 > 38.4+0.6 < 44.4+4.5 = [52.5+0.8> 48.9£1.2< 53.5£3.1< 60.3£1.3> 54.4+2.9=48.5+6.0< |46.5£2.944.2+2.7| 41.1+x1.8 =44.2+3.0 = 52.0+2.8 53.1+1.15
PE ]10.840.2 = 0.840.1 = 09403 = 0.840.1 = 0.7#0.1 > 0.320.1 < [0.720.1 = 1.0£0.4 = 0.740.1 < 1.840.7 > 0.9+0.3 = 1.4+£0.7 =[ 1.8+0.4 3.2#£25| 1.1#0.2 = 0300 = 2.0+0.1 > 1.1+0.9 5
PC [1.120.0 > 0.8402 = 0.7#0.1 > 0.520.0 < 0.840.1 = 1.120.3 > |0.840.1 = 0.7+0.2 = 0.540.1 = 0.620.1 = 0.540.1 < 0.940.2>[0.940.1 0.8+0.4| 1.5+03 =1440.1 = 0.9+0.1 =0.940.2 =
PI |16%12 = 15414 = 12412 = 08404 = 13415 = 24412 > [1.520.2> 0440.8 = 1.7£1.0 = 2.6£2.8 = 1.4+0.3 > 0.240.3 =[ 1.320.6 1.7#1.2| 0.7¢1.0 = + = 1.9£1.8 = 2.3+3.2 5
TAG [38.3+4.5 = 34.0£2.2 > 28.7+0.5 = 28.8+3.1 < 33.0£1.6 < 38.0x1.1 > 35.1£1.9=34.2+3.0>26.2+0.5=26.5+1.0=23.942.3<34.4+2.8>[46.5£2.944.2+2.7| 41.1£1.8 =442+30 = 52.0+2.8 53.1+1.15




